Quality First & Customer's Satisfaction

R£*BONICDRIVE CYKODRIVE
R OR OB 2 SEBRGEN 45

DSF 23

g
Kéﬁ__»

DHF 33




DSF

e EERR S EE B K MEL M e M 14 P
Wave Generator  Elastic Bearing Cup-Type Flex Gear Internal Gear

DHF

RRESRT  CHEEER HIMAER 0 O RKNERRFEE ERERMER
Wave Elastic Internal Crossed Roller Hat-Type

Generator  Bearing Gear Bearing Flex Gear



RIXBONICDRIVE

YT RES



A BURL & % R&¥BONICDRIVE

i3 #48 Reduction Mechanism

BB EREEEMA - R EREBEMRER -
FMERENERERET R BEES
BIENER > O GIRRE B 360 » RUERS LERH SRR NERAZMERNVEEEED -

*Flex gear and elastic bearing take elliptic shape with the wave generator inserted.

*Flex gear and internal gear are engaged at both ends of the long axis of the ellipse in a stable manner.
*With the internal gear fixed, when the wave generator is rotated clockwise, the flex gear (output) rotates
counterclockwise. And its rotational speed is determined by the tooth count differential between two gears.

0° 90° 180° 270° 360°




A R IR 1%

EH4 218 Parts Name

DSF

MBI M e i
Cup-Type Flex Gear

2

ANEED

NEENNN

1 P e

Internal Gear

| SHEREK
Elastic Bearing

AN

v

¢

O

JL3ELE Ratio
DSF

//

EE
Fixed

A
Input

EREER
Wave Generator

B3R G R Y

Bt A E R AR E

MEZ M EERE 2 Flex Gear : Zf
M A e EE 2 Internal Gear : Zc

B3R LED Ratio =

Wit Ratio——%

¢ B A DR EE 75 (o) EA B LH iR B8 75 (M AH
The input and output rotation
directions are opposite.

- 01
WiiztL Ratio =71

% g A fieEE 75 [ Bl Y e 48 5 [ AR [E]
The input and output rotation
directions are same.

@ R R EE R AR R PARIELS
R represents the "Ratio" figure in the
specifications table on the next page.

DHF
~
= M e A T i = A
BRIEMER __ BItAER
Hat-Type Flex Gear N«gf Internal Gear
S BT B
Elastic Bearing
RS
m Wave Generator
I
DY
=3
DHF
M R AT &
ke M
Output
Zf-Zc
zf
N
/?* A
N i
&l & N
Fixed
[ |
| \
T
% Input
N
ge=n

I& UMING 5



A b R % R&¥BONICDRIVE

;8 &l Lubricant Information

B RY1E A Lubrication

EEREEHME unit: g
Synthetic grease No.2. mgE DSF / DHF
Model A B C D

14 1 3 0.25 0.5
B TR ZEIK Grease Application 17 | 2 6 | 05 1

20 3 9 0.75 1.5
DSF X DHF 2B ARZKREHKE B - 25 6 18 1.5 3
For DSF and DHF, please apply grease 32 12 36 3
according to the right table. 40 22 66 55 1

45 34 102 8.5 17

B a0 R EKEBNI Grease Application Location

DHF-AC
DSF-PC DSF-AC DHF-AK
DSF-PK DSF-AK DHF-AO

casing

casing S
casing

casing




A R IR 1%

Z 315 E Attachment Fixture Requirement

DSF-PK

ES
casing

©l 2o [a}

S

WAL

unit: mm

itk
Model

14

17

20

25 32 40

0.015

0.015

0.018

0.018/0.023 | 0.023

casing

Input section

B A BRI
Input section

0.016

0.020

0.020

0.0240.024 | 0.024

0.010

0.012

0.014

0.016 |0.020 | 0.020

0.013

0.013

0.015

0.018|0.020 | 0.020

0.012

0.012

0.014

0.016|0.016 | 0.020

- | D Q|0 |T|®

0.016

0.020

0.024

0.0240.024 | 0.024

unit: mm

AR
Model

14

17

20

25 32 40

0.020

0.020

0.020

0.025|0.025|0.025

0.012

0.012

0.014

0.016|0.016/0.016

0.016

0.020

0.024

0.0240.024 | 0.024

unit: mm

WA RIgE
Input section Model

14

17

20

25

32 40 45

0.020

0.020

0.020

0.025

0.025|0.025|0.025

0.012

0.012

0.014

0.016

0.016|0.016/0.016

0.016

0.020

0.024

0.024

0.0240.024 | 0.024

I& UMING 7



A b R % R&¥BONICDRIVE

{EEH4%E Transmitting Torque

1244 2L[E B Tightening Torque for Bolts

unit: Nm
1244 Bolts M3 M4 M5 M6 M8 M10
1244 22 [E S4B Tightening Torque | 1.9 4.3 8.7 15 36 71
WERBRS  RaEED 129 M E
Recommended bolt : Strength rating above 12.9

{E3E 14E Bolt Specifications and Transmitting Torque

DSF-AC ~ DSF-AK ( Z& = Unit Type)

Z#L8 H)AB Output flange Attachment

B3k Model Unit 14 17 20 25 32 40
124% Bolt M4 M5 M6 M8 M10 M10
12 44{E 21 Bolt Count 6 6 8 8 8 8
%8t PCD Bolt PCD mm 23 27 32 42 55 68
2@ % Tightening Torque | Nm | 4.3 8.7 15 36 71 71
835 748 Transmitting Torque | Nm 56 106 238 566 | 1,177 | 1,177

ZZE N Internal Gear Attachment

Z15% Model Unit 14 17 20 25 32 40
1244 Bolt M4 M4 M5 M5 M6 M8
1244 {E 27 Bolt Count 6 6 6 8 8 8
Z#E PCD Bolt PCD mm 65 71 82 96 125 144
ZX[E % Tightening Torque | Nm | 4.3 4.3 8.7 8.7 15 36
838 748 Transmitting Torque | Nm | 158 172 322 503 | 1,392 | 4,150

ZHENER
Internal Gear Attachment

ZRELAR
Output Flange Attachment\




A R IR 1%

{&3E 114E Bolt Specifications and Transmitting Torque

DSF-PC - DSF-PK ( #Af=0 Component Type)

ZHEEMNEZ 4 B8 E Cup-Type Flex Gear Attachment

gaAx
LEE]

3k

Flex Gear Attachment

$HFFLAY3B N Reinforcement

ZtERZENEENERWEERE

iH AL O IRIBFEKE -

AREFERET -

FI2E Model Unit 14 17 20 25 32 40
1244 Bolt M4 M5 M5 M6 M8 M10
1244{E 2] Bolt Count 6 6 8 8 8 8
Z#£ PCD Bolt PCD mm 17 19 24 30 40 50
2E A%E Tightening Torque | Nm | 4.3 8.7 8.7 15 36 71
EE )45 Transmitting Torque | Nm | 41 75 126 | 223 | 539 | 910
ZZE N5 Internal Gear Attachment
FIZE Model Unit 14 17 20 25 32 40
1242 Bolt M3 M3 M3 M4 M5 M6
12 241E 2 Bolt Count 8 16 16 16 16 16
Z % PCD Bolt PCD mm 44 54 62 77 100 122
Z[E 4B Tightening Torque | Nm | 1.9 1.9 1.9 4.3 8.7 15
{EE)%E Transmitting Torque | Nm 82 200 230 | 485 | 1,048 | 1,800
ZEENE R
Internal Gear Attachment
E
=N

Pins can be added if the transmittable torque at the flex gear interface is not sufficient.
As an option, holes can be added.

&5

FATEHAL(3ME)

Thru Hole for Pins

B
J N

Ry

DSF14,17

& @
A

)

FATIEFL(218)

Thru Hole for Pins

83

& &

&)

DSF20,25,32,40

I& UMING 9



A b R % R&¥BONICDRIVE

{835 1%k Bolt Specifications and Transmitting Torque

DHF
ZHIEEI M 5 #R Hat-Type Flex Gear Attachment
AUZE Model Unit | 14 17 20 25 32 40 45
1242 Bolt M3 M3 M3 M4 M5 M6 M6
1242{E 21 Bolt Count 8 12 12 12 12 12 18
Z 8% PCD Bolt PCD mm 64 74 84 102 132 158 180
Z[E 4B Tightening Torque | Nm | 1.9 1.9 1.9 4.3 8.7 15 15
{EE %8 Transmitting Torque | Nm | 119 206 234 495 | 1,037 | 1,392 | 2,088
ZEANEE Internal Gear Attachment
EUZE Model Unit | 14 17 20 25 32 40 45
1244 Bolt M3 M3 M3 M4 M5 M6 M8
1244 & 2{ Bolt Count 8 16 16 16 16 16 12
Z 3= PCD Bolt PCD mm 44 54 62 77 100 122 140
2X[E % Tightening Torque | Nm 1.9 1.9 1.9 4.3 8.7 15 36
{E3E 1 4E Transmitting Torque | Nm | 82 200 | 230 | 485 | 1,048 | 1,258 | 2,680
LR
ZENE R
Flex Gear \
Attachment it Internal Gear Attachment
N

TR ER
Flex Gear

Attachment

ZENEHR
Internal Gear Attachment

)
@1
S

ZERFME

Flex Gear

Attachment

ZERANE

Internal Gear Attachment

LN

10



A R IR 1%

B A SR8 3E Input Section Structure

B A BB/ %S Input Section Structure

BASUBE D HRENRBEE > HAAESEERMNAR -
There are two types of input section structure, keywey and collet + keyway.

it
Keyway Type

ANA LR Input Hole Diameter

BER

Collet + Keyway

W
<| 4+— — _ T
—]
Cl B

D
AJ##1E R ~F Input Bore Dimension unit: mm
E1%E Model 14 17 20 25 32 40 45
AN Input Bore B | 6 - 8 8 8- 14 14 14~ 19 19 ~ 24 19~ 24
prEE W 2.3 3 3-5 5 5.6 6-8 6-8
s H 7-94| 94 |94-16.3| 16.3 |16.3-21.8] 21.8-27.3 [21.8-27.3
1244 2-M4 | 2-M4 | 4-M4 | 4-M5 | 4-M5 |4-M5-4-M6| 4-M6
2% PCD 18 22 25 32 36 50 50
A 14 16 20 22 30 32.33 32.34
C 23 | 42 43 6 5 7 5
D 10 | 125 13.5 14.5 16 20 20

I& LIMING 11



A b R % R&¥BONICDRIVE

BEE %4 757X Motor Mounting Instructions

Z 35751, Installation Method 1

LR AR REESEL

T2 BENEERTEERENL

T3 wREHGNERTTY

step 1: Attach the flange on to the motor.

step 2: Attach the wave generator on to
the motor shaft.

step 3: Attach the unit.

Z 353 Installation Method 2

DSF-AK

LR BRENEERTEEREN L

T2 BERLEREREL

T3 wREHGNERTTHY

step 1: Attach the wave generator on to
the motor shaft.

step 2: Attach the flange on to the motor.

step 3: Attach the unit.

DSF-AK

MM [ [0 6

DSF-AC

é

HanAE
Unit

AEREN
Unit

NG

Unit

HERAEHS

Unit

Wave Generator

AR EER "//I’
[

Wave Generator §5<¢

[l
et
wifi

e
Motoar

ARIZEHEE > AUBERNIEE -
GERATERIEARRESES °

ZERBIERAY)FEEEIE Caution during installation

* Do not use excessive force while mating parts.

* Please watch for tilting during input section assembly
wave generator.

12




A R IR 1%

X2 5E1H Installation and Assembly Instructions

AD#E / HHEHRYSZ 38 (DSF) Shaft Installation Instruction

A8/ HAMBRAERZERARETNEQaR / MOaENERE - (FTERSEZEH)
Please design the support structure for input shaft and output shaft so that both radial and axial
loads are supported. (Diagram below shows an example)

B4 L 5 A Bl
Output Shaft\ Input Shaft
RS /

-
%

Z 4L 75,5 (DSF) Attachment Flang Requirement

ZEANBZ U EREEEIEARR > A 7 IEEMM B RN & iR ]
18 > R FNRFIRRS - t

I

For the attachment flange that comes in contact with cup-type flex
gear, please build the corner radius according to the table below, in
order to prevent damage.

»D

unit: mm H
U158 Model| 14 17 20 25 32 40
R 0.5 0.5 0.5 0.5 0.5 0.5 T
D 23 26 31 38 50 65

A b | A
BT R EHER~ (DSF) ©f 2o [AF— N e

Size Requirement of the Flange for Motor Attachment

RE#RZEZHSETHERR > FELRSAEH -
ERLEBRABRIBRIB NRAIRERAT -

0T

0

An attachment flange is required in order to attach a unit type to the m T == { _
motor. The table below shows the dimension requirement for the \ {
flange. I

unit: mm

ZU5% Model| 14 17 20 25 32 40
B 56 63 78 86 113 127 r ]
38H7 | 48H7 | 56H7 | 68H7 | 90H7 | 110H7
3 3 3.5 4 4 5
0.03 | 0.04 | 0.04 | 0.04 | 0.04 | 0.04
0.03 | 0.04 | 0.04 | 0.04 | 0.04 | 0.04

T |~ -

I& LIMING 13



A BURL & % R&¥BONICDRIVE

=7%n Service Life

W ESIRHI=ap Service Life of the Wave Generator

BIRTERFE RS > EREESHENSIRATE - M—RRIAHFHEE > AEFRESFHEEFTEKD -
The service life of reducer is determined by the service of the wave generator bearing, and you can
calculate this by the rotational speed and the load torque just as with a general ball bearing.

S5 Service Life

#E Type DSF - DHF
L, (10% S38#* Damage Probability) 7,000 horus
L;, ( *F¥9=1n Average Service Life) 35,000 horus

M BETEFRGE CRETEE - BEEAE N NEESD
Service is based on the rated rotational speed and rated torque from the ratings.

KEBEREBRUHNSmED (L) A
Calculation formula for service Life (L) by actual operation condition

Ln‘: L, 3 L;, BB m$E Service Life of L, or Ls,

3
Lh=Ln - Ir Nr Tr: FAEEIE Rated Torque
Tav ) |\ Nav Nr: BAEER Rated Rotational Speed
Tav - BHIGHFIIE S Average Load Torque on the Output Side
Nav: FI198g A\ 5% Average Input Rotational Speed
17
16 JE g R
— Bluckling torque
_10
2 9 \ B IREGE I
~ 3 \ Breakdown area Racheting torque
i o AN
i
w38 7 *Eﬁ%ﬁ@\ REEROEEED (L1o)
o Not Service Life of wave geherator (L10)
Ko breakdown
@ ‘E 6 -are,_aa_ \
ST 5 BRI ST RARE Z MBS RS RE
L Permissible maximum Bottom|fatigue intensity pf the flex gear
W o momentary torque
w3z 4
:g 3 S EESE \ B ENF IR B ST I E 885D
§ Emergency joperation area Nermissible peak tarque at start/stop|
2

— AR 1% THES =S Normal operation aN R o
1 \

8 9

10 10 10

WEERNBEH (R)
Total frequency of the wave generator

BEERE —RNEEEREE  PER -BBY  —RFEBEREE  FREE SRR REAEE -
rFitExRAZREEERSHESH > FULMBRIFRESEE -

Use it within the range of "Normal operation area". Using it beyond "Emergency operation area" may
result in damaging reducer earlier than usual.

Lubricant life such as for abrasion on the tooth surface is not taken into consideration in the graph
described above. Use the graph above as reference values.

10

10 10 10

14



132 /E Intensity

F M EmivEE Intensity of Flex Gear

FiEERFRBREEEER - ILIBEBNEEBEUREERNWERESQEREE -

BT  EHEFILIRNSTFBEERSHE  AFRYERVERESHIRZANEE

Eht B ER ST LI EEE%EE’J@ S8 - RS EL RS WIE -

RYBRELCRSEE RAEHBREBNMINREIRT - BEHEBEENEABEASEBBHERTRAEBLE -
As flexs gear repeats elastlc deformation, the transmission torque of reducer is calculated based on the
fatigue strength of the bottom of the flex gear.

Values of the rated torque and permissible peak torque for start and stop are those within the fatigue limit
of the bottom of the flexs gear.

If impact torque that exceeds the peak torque for start and stop is applied, it could generate fatigue
fracture.

Therefore, the number of applications of impact torque is limited to prevent possible fatigue fracture.
However, the maximum value of the impact torque cannot exceed the permissible maximum momentary
torque.

EREFRARERERR > RMERNETETRERE

Restriction on the bending frequency of the flexs gear by the rotation of the wave generator while the
impact torque is applied:

1.0 x 10* ( =X frequency)

ERIE—EM SR RERE - o kHEHEERIINNSFRE -
You can calculate the permissible frequency of impact torques from this restriction on the bending
frequency.

=T& /A1 Calculation Formula

BEFRE Permissible Frequency "NR
1.0x10° BEEPBAIMEINER Time that Impact Torque is Applied : tsec

N= SR E4 238 E Rotational Speed of the Wave Generator © n r/min

REL2RIEE 1 B BERMEREL 2 TERET
The flexs gear bends two times by one cycle of the wave generator.

2 x L Xt
60

[ HH#E%E Buckling Torque

RESRSEEMRET » HRMEH (W) MIBEEER > H5ERMERNBUET > TRHENE
METER P AP SR LR A - EMANIE - IEISHE%E © /B -

When excess torque is applied to the flexs gear (output) with the wave generator fixed, the flexs gear
causes elastic deformation, buckles on the body before long and will be destroyed. The torque at the
time is called buckling torque.

Frém¥#E%E Ratcheting Torque

EEPERIEENEEEE - olfEHIRRMERARIE > BRMEREAZUERNOESEBRENER -
LE—IR RS RRER L IE

IERS R BEXE R 2 KRR 82 4R -

When excess impact torque is applied during operation, the engagement of the teeth between the internal
gear and the flexs gear may be put momentarily out of alignment instead of damaging the flexs gear. This
phenomenon is called ratcheting," and the torque is called "ratcheting torque" .

& LIMING 15



A BURL & % R&¥BONICDRIVE

92 ---------------------------------- " K3
M4t Stiffness K. i
o E
BEIE AR > 18 DRI E 8RR EE R B g? L . i
BRERAE - 2 : |
He K, - .
Ho i ;
. . . Tz ' :
In this context, stiffness is the output shaft = ! ;
twisting angle and the spring coefficient, while E i
torque load is applied to the output shaft with 0 e T
orque 10ac IS app P T aEhE
input side fixed. Load Torque
K. NFE 0~-T, WEZEH
Spring coefficient at 0~T, torque
Ki..... NI T~T, NEEEH
Spring coefficient at T/~T, torque
K;.... NFE T~ REZERH
Spring coefficient at T,~ torque
JEEREE Ratio| U575 BE{1I Unit 14 17 20 25 32 40 45
- T, Nm 2 4 8 16 30 62 76
- T, Nm 6.8 12 24 50 110 210 280
K, | X 10'Nm/rad 0.28 0.70 1.20 2.80 5.60 11.00 15.00
K, | X 10'Nm/rad 0.45 0.86 1.80 3.40 7.20 14.00 20.00
50 K; | X 10'°Nm/rad 0.60 1.70 2.60 4.20 8.50 18.00 24.00
0, arcmin 2.45 1.96 2.29 1.72 1.84 1.93 1.74
0, arcmin 5.19 4.79 4.58 5.05 5.25 4.51 4.80
K, | X 10°Nm/rad 0.46 0.92 1.50 3.40 7.00 12.00 17.00
80 K, | X 10°Nm/rad 0.65 1.20 1.80 3.80 8.20 18.00 23.00
100 K; | X 10°Nm/rad 0.70 1.80 2.60 4.60 9.70 22.00 29.00
120 0, arcmin 1.50 1.50 1.80 1.62 1.47 1.78 1.54
0, arcmin 3.59 3.43 4.58 4.52 4.60 4.00 4.18

X ERPEERFIIE - Average value shown in the table.

16



A R IR 1%

ANEBEFE T Maximum Load at Input Shaft

%7 4% Bearing Specification

EAFREAE | EXHNEBHEATE | EXASEEAT
Basic Static Basic Dynamic Basic Static
Load Rating Load Rating Load Rating

BEAREEET

EX]| RugE | Basic Dynamic

14 5,000 2,450 5,000 2,400 16 27.5
17 5,400 2,950 5,400 2,950 16.0 31.0
20 5,650 3,400 5,650 3,400 14.5 27.5
DHF-O 25 6,150 4,200 6,150 4,200 15.5 31
32 17,700 10,900 8,200 6,100 20.0 36.0
40 25,200 17,300 14,300 10,600 24.5 43.5
45 21,700 16,100 14,900 11,500 24.5 46.5
14 5,700 1,950 2,800 910 23 23
17 6,400 2,400 2,800 910 25.0 25.5
20 7,000 2,850 2,800 910 30.5 27.5
DHF-S 25 7,500 3,250 5,400 2,250 36.0 30.5
32 11,700 5,050 7,000 2,850 39.0 37.0
40 17,500 7,850 11,700 5,050 46.5 45.0
45 17,500 7,850 12,600 5,850 46.5 50.5
A —;:{{%— % B f;:{{%f
Bearing A I — Bearing B R
L ] B A i % B
N T Bearing A (| Bearing B
| 7 \
= -
e e
£
b
a b
DHF[-O-[] — 14 DHF[ ]-S-[ ] — 14
800 — 17 — 17
\ — 20 500 — 20
700 25 450 N 25
\ — 32 400 32
600 \
\ 40 350 40
500 45 N\ 45
_ \ _ 300 \
Z T 400 Z T 250
. 300 N\ \ L S 00 AN
T3 S g5 NN\ AN
M T 200 - W =
E T @ 100 \‘\\§\ AN
I 100 I
X~ \ \ - 50 \ \
0 . . . . 0 . . .
0 100 200 300 400 0 100 200 300
gEBTE Fa[N] BEEE Fa [N]
Axial Load Axial Load

& LIMING 17



A b R % R&¥BONICDRIVE

F#lF& Main Bearing

FEFFRE (R X B RFEF)

Main Bearing Specification (Crossed Roller Bearing)

REEN B E REE | EXPERERT EAFLHETEAE SFNEGE| HEBMY
W | mg Pitch CircleT Diameter | Offiset Basic Dyngmic Basic Stgtic Allowable Mgmgnt
Type |Mo d';l of the Bearing Rollers Load Rating Load Rating Moment Rigidity
Dm L Cr Cor Mc Km
mm mm N N kgfm kgfm/arcmin
14 32.8 9.5 4,800 7,200 4.2 1.3
17 38.5 9.5 5,500 8,250 6.5 2.3
DSF 20 46.2 9.5 7,050 10,580 9.3 3.8
25 57.6 11.5 9,900 14,800 16 7.2
32 76.8 12.5 12,900 19,300 32 16
40 92.0 14.5 16,800 25,200 46 27
14 53.8 10.3 6,000 8,800 7.6 25
17 61.5 11.9 10,700 16,800 12.6 4.6
DHE-AC 20 70.4 12.0 15,000 22,700 19.1 7.5
DHE-AK 25 84.5 141 22,400 37,000 26.3 11.6
32 108.0 15.9 39,400 65,100 59.1 29.6
40 135.0 19.0 44,600 74,000 86.6 53.2
45 154.0 20.5 65,400 98,000 115 76.3
14 53.8 21.8 6,000 8,800 7.6 25
17 61.5 23.9 10,700 16,800 12.6 4.6
20 70.4 25.5 15,000 22,700 19.1 7.5
g:';g 25 84.5 29.6 22,400 37,000 26.3 11.6
32 108.0 36.4 39,400 65,100 59.1 29.6
40 135.0 44.5 44,600 74,000 86.6 53.2
45 154.0 47.5 65,400 98,000 115 76.3
FEESE st E Part Life Span for the Main Bearing
E AR Operation Cycle Example ANER & fa7 External Load
DSF DHF-AC L
o || Lt — DHF-AK
Fro | | g ! R =1
| o
e Fre B Fr
F\jagijalglgjad } Frs Ti:?e 777Q7777 7;:7 - IS
\ el =
I S e
Fa: | \ \ Fa < )
o 8L o
Faz ‘ EEE Hi==—
#EaH | | Fa 5 L L
Axial load } Fas Time DHF-O DHF-S
| | | T — -
o ;= i
n2 ‘
n1 ns ‘
§ it § =1t

it EE
Output rotation
speed

iS1E
Time

<>

[T

18




4514 2135 Characteristics Data

%§1§§;%§ T REL unit: arcmin
Transmission Angular Accuracy Type | Ratio | 14 | 17| 20| 25| 32 | 40 | 45
* 50 2020|1510 ]10 1.0 -
EERAERENEADMIeER > Eim LR 80 | 151151101101 101101 -
EAEHERALEEAENEE - DSF 400 151 15 | 10 | 10 | 10 | 10 | -
120 - 1510|1010 | 1.0 -
It is the difference between the measured output 50 | 201 20 | 15 | 10 | 10 | 10 | 1.0
rotation angle and the theoretical angle, while 80 15115 10 | 101 10 |10 | 10
input shaft is rotated with no load. DHF 100 | 15 15 | 10 | 10 | 10 | 10 | 10
120 - 1510|1010 |10 | 1.0
120
90
~o 60
£ 3 30
5 0ol YMWWMWJ .Wmnmi}\l\auﬁq@ Y%M!E uﬂﬂhﬂﬂjﬁzﬁﬂ
B, gy SR e KV
i o)
# T -60
2 & .90
-120
0 90 180 270 360
mLEEEAE (F)
Output Shaft Rotation Angle (deg)
unit: arcmin
N7 =] .
=T
18185 Hysteresis Loss 1@1 REE 0 | 17 | 20 | 25 | 32 | 40 | 45
ype | Ratio
WMAREEE - FAOEMMESELRAE 0 NI 50 | 20]20]20|20] 20|20 -
R A EE - bsp |80 | 15/15 /10 10|10 10| -
100 | 15|15 10|10 10| 1.0 -
When torque load is applied at the output shaft 120 - 1511010 |10 | 1.0 -
in alternate direction repeatedly with input shaft 50 | 20| 20|20 |20| 20| 2020
fixed, there is residual twisting angle when torque DHE 80 15/15]10|10 |10 | 10| 1.0
is back to zero. 100 | 151510 | 10| 10| 1.0 | 1.0
In this context, hysteresis loss is the difference in 120 - 151 101101101101 1.0
the forward and backward twisting angle.
HHAE
Twisting angle
b e ZI=PS

Hysteresis Loss

_49/

Torque

& LIMING 19



A b R % R&¥BONICDRIVE

EEh#E4E Starting Torque

BRI ARGEERER - WARRREREBNDE - (F9E E8F  RIFERE 1 25TC)

Input torque needed for input side to start rotating (average value, no load, ambient temperature : 25°C )

1R ENENEESE Output Starting Torque

LA E R - MARRGRENDE - (F9E - B84 BRIRAE 1 25C)

Output torque needed for input side to start rotating (average value, no load, ambient temperature : 25C )

mE &) E# 4 No-load Running Torque

A ERG T 2,000 r/min » EEEEMENEZENBARNE - (FHE > B85 RIREE 1 25C)
Input torque needed to keep it running with no load speed 2,000 r/min (average value, no load, ambient
temperature :25C )

X6 7F 8 1 1 2B Nominal Output Torque

B3R % A A\ B53E 2,000 r/min B > Sl DIREGREINSAIERE

The indicates permissible continuous load torque when the input speed is 2,000 r/min.

Bx A 85 5B Max. Output Torque

&~ FLERNEREAE
The maximum torque when starting and stopping.

=151 %E Emergency Stop Torque

BEBBRNEABE
The maximum torque when it receives shock loading.

X6 7F A\ 822k Nominal Input Speed

EER > WABENSHE
The indicates permissible continuous running input speed.

12 =18 Noise Level

2,000 r/min BEBE 1m BEH SR
Noise level is measured in 2,000 r/min, without loading and in distance from the reducer.

20



A R IR 1%

Y E Efficiency

MERNERGEAUA M ARER

The efficiency varies depending on the following conditions.

+ JRZEEL Reducer Ratio

« B AR Input Speed

« B# 5 Load Torque

+ RE Temperature

« JEB &4 Lubrication Condition

BRA EEERWAEE 2,000 rpm ZERESHMAEFHEE -
The efficiency in our catalog is average value tested at rated torque loading in input speed 2,000 r/min.

DSF14-A[-50 DSF14-A[]-80
100 100
e 500 r/min e 500 r/min
- 90 H == 1000 r/m?n - 90 == 1000 r/min
0 e 2000 r/min 0 e 2000 r/min
@ 80 || ———3500rmin @ 80 || ———3500r/min
= 0 é 70
E 7
] L
< 60 < 60 //A
5 R ///é
E F /
40 40
30 30 /////
10 10
0 20 40 60 80 100 0 20 40 60 80 100
B 14 [%] Percentile Rated Load B 14 [%] Percentile Rated Load
DSF14-A[1-100 DSF14-A[ ]-120
100 100
e 500 r/min e 500 r/min
- 90 H == 1000 r/min - 90 H == 1000 r/min
LCJ e 2000 r/min LC) e 2000 r/min
& 80 [ ———3500 r/min & 80 [ ———3500 r/min
Qo Qo
T 60 ///A < 60 ///
% 40 y ® 10 =
30 // 30 %////
20 20
7
10 10
0 20 40 60 80 100 0 20 40 60 80 100

& 15 [%] Percentile Rated Load

B 15 [%] Percentile Rated Load

& LIMING 21



MEMO







A BURL & % R&¥BONICDRIVE

#FERLSER 7N Indication of Model Numbers

_osk | 14 B P J c Jgl 100 Bg MOTOR _

R T Eighs -5 AFER =L BRER
Type Model Style Input Style Ratio Motor Type
DSF 14 P: A= C: ANEE 1/50

17 Component Type Input Collet 1/80
20 A BT K: AJ1siE 17100
gg Unit Type Input Keyway 1120
20 MC: AR
Motor Flange Type
S: Ah#El %3P~ ATILUERE
Input Shaft Type AN
Input style is optional
for style P, A.
DSF []-PC-[] DSF []-AC-[] DSF [J-MC-[]

PC
« - ANEER

DSF [ -PK-[]

< Al - ARE

Component Type - Input Collet

Component Type - Input Keyway

AC

- #Hal- ANBE
Unit Type - Input Collet

DSF [ -AK-[]

o HAEI- ANRE
Unit Type - Input Keyway

MC
+ A= Motor Flange Type

DSF []-S-[]

+  AJBIEAR Input Shaft Type

24




DSF Z 4% 4 Characteristic of DSF
A WoseiNo. | Birunt | siRato] 14 | 17 | 20 | 25 | %2 | 40 |
17 42 80 140

R E I H AR
Nominal Output Torque

B A B E Max. Output Torque
/=38 4E Emergency Stop Torque

FI®)#E4E Starting Torque

IR ENHEAE
Output Starting Torque

BREEEND
No-load Running Torque

XA XE B A B2 Nominal Input Speed

B A H A B3R Max. Input Speed
& 1%E Reducer Inertia

R Efficiency

5 F)RE Operating Temperature
8B Lubrication

12E 18 Noise Level

Nm

Nm
Nm

cNm

Nm

cNm

rpm
rpm
Ix10-4kgm?2

%

dB

50
80
100
120
50~120
50~120
50
80
100
120
50
80
100
120
50
80
100
120
50~120
50~120
50~100
50
80
100
120

50~120

50~120
50~120

5.4 27
7.8 23 36 66 122 210
7.8 25 42 70 140 270
- 28 45 72 142 300
2 288 E# 1 3E 2 Times of Rated Output Torque
3 {E XA e T 11 4E 3 Times of Rated Output Torque

4 6 8 15 32 55
3 4 5 9 20 35
25 3.5 4 8 18 32
- 8 4 7 15 28
1.6 3.2 4.8 10 20 36
1.8 3.3 4.8 1 21 38
1.9 34 5 12 22 40
- 3.5 6 12 24 42
5 10 14 18 31 60
4 9 13 17 30 58
3 8 12 16 29 54
- 7 1 15 28 50

2,000 2,000 2,000 2,000 2,000 2,000
6,000 6,000 5,000 5,000 5,000 4,000
0.04 0.08 0.2 0.4 1.7 4.5
70 73 73 73 75 75
68 70 72 72 74 74
64 66 70 70 72 72

= 64 68 68 70 70

218 Environment -10C ~ +70C /
A TLERE Max. Working Temperature 90°C

A EEHAE Synthetic Grease No.2
52 54 56 58 60 62

& LIMING 25



A BURL & % R&¥BONICDRIVE

MODEL : DSF-PC

B1

B3 B2
B6 B5__ B4
B7 E2

B8 I

9E1
¢C3
$C4 He

vl
\
\
8

$C2 he

PAS
PE1
?C1 nhe

D4-9D5

Code\Model| 14 | 7 | 20 | 25 | 32 [ 40 |
A1 8 8

81114 14 1419 19
A2 3 3 3-4-5 5 5.6 6
A3 9.4 9.4 94127163 16.3 16.3 - 21.8 21.8
A4 M4xP0.7 M4xP0.7 M4xP0.7 ~ M5xP0.8 M5xP0.8 M5xP0.8 M5xP0.8
A5 235 235 235~ 26.5 31 31 34 - 38 38
AB 22 23 255275 30 32.5 36.5
B1 36 39 425~ 445 49.5 58 67.5
B2 185 195 21-23 255 30 335
B3 17.5 195 215 24 28 34
B4 12,5 125 135~ 15.5 15.5 16 16.5
B5 6 7 7.5 10 14 17
B6 2 2 3 3 3 4
B7 16.5 18.5 20.5 23 27 33
B8 2 2.5 2.5 2.5 2.5 4
c1 50 60 70 85 110 135
c2 38 47 54 68 88 108
c3 23 26 31 38 50 64
c4 11 10 14 20 26 32
D1 6 6 8 8 8 8
D2 4.1 5.1 5.1 6.1 8.1 10.1
D3 17 19 24 30 40 50
D4 8 16 16 16 16 16
D5 3.5 3.5 3.5 45 5.5 6.5
D6 44 54 62 77 100 122
E1 38 46 54 67 86 105
E2 15 15 2 2 2 3
O-Ring d35x 1.0t  dd44 x 1.2t d51.82 x 1.5t d63.22 x 1.78t d84.5x2.0t d107.62 x 2.62t
Weight (g) 132 195 300 495 1,018 3,383

26



MODEL : DSF-PK

B1
B3 B2
B4 E2
B5

B6

A9

LA S

$C2 he
E1
9C3
?E1

$C1 he

Code\Model| 44 [ 47 | 20 | 25 [ 32 | 40 |
A1 6 8 1 14

-8 8- 14 4 19 19 ~ 24
A2 23 3 35 5 5.6 68
A3 794 9.4 9.4-16.3 16.3 16.3 -~ 21.8 21.8+27.3
A4 2-M4xP0.7 2-M4xP0.7 M4xP0.7 M5xP0.8 M5xP0.8 M5xP0.8
A5 18 22 25 32 36 50
A6 10 12.5 13.5 14.5 16 20
A7 10.5 13 14 16.3 17.45 22
A8 14 16 20 22 30 3233
A9 2.3 4.2 43 6 5 7
B1 235 26.5 29 34 42 51
B2 6 7 7.5 10 14 17
B3 17.5 19.5 215 24 28 34
B4 2 2 3 3 3 4
B5 16.5 18.5 20.5 23 27 33
B6 2 2.5 2.5 2.5 2.5 4
c1 50 60 70 85 110 135
c2 38 47 54 68 88 108
c3 23 26 31 38 50 64
c4 11 10 14 20 26 32
D1 6 6 8 8 8 8
D2 4.1 5.1 5.1 6.1 8.1 10.1
D3 17 19 24 30 40 50
D4 8 16 16 16 16 16
D5 35 35 35 45 55 6.5
D6 44 54 62 77 100 122
E1 38 46 54 67 86 105
E2 15 15 2 2 2 3

O-Ring d35x1.0t d44x1.2t d51.82x1.5t  d63.22x1.78t  d84.5x2.0t  d107.62x2.62t
Weight (g) 100 167 246 446 938 3,297

& LIMING 27



A BURL & % R&¥BONICDRIVE

MODEL : DSF-AC

Code\Model | 14 | 17 |
A1 8 8

A2
A3
A4
A5
A6
B1
B2
B3
B4
B5
B6
B7
C1
C2
C3
C4
C5
C6
D1
D2
D3

D4

D5
D6
D7
D8
D9
O-Ring
Output O-Ring
Weight (g)

3
94
M4xP0.7
23.5
23.5
48.5
21.5
27
12.5
2
7
4
73
38
56
31
1"
9
6
M4xP0.7
23
8
6
4.5
65
6
M4xP0.7
65
d49.5x2t
d29x0.6t
555

B1

B3

B2

$C3 h7

9C4
@¢C5 Hr

$C2n7
9C1

3
9.4
M4xP0.7
235
245
51.5
225
29
12,5
2
8
5
79
48
63
38
10
9
6
M5xP0.8
27
8
6
4.5
71
6
M4xP0.7
71
d55.5x2t
d35x0.6t
733

A6

8-11-14
34-5

9.4-12.7~16.3
M4xP0.7 ~ M5xP0.8

23.5~26.5" 31
27~ 29
54.5 ~ 56.5
26.5~28.5
28
13.5~15.5
3
10
6
93
56
72
45
14
8.5
8
M6xP1.0
32
8
6
5.5
82
6
M5xP0.8
82
d66.5x2t
d43x1.5t
1,039

14

5
16.3

M5xP0.8

31

33
64.5
28.5

36
15.5

10

107
67
86
58
20
1.5
8
M8xP1.25
42
10
8
5.5
96
8
M5xP0.8
96
d79.5x2.0t
d55x1.5t
1,629

14~ 19
5-6
16.3 >~ 21.8
M5xP0.8
34~ 38
38.5
76
31
45
16
3
12
5
138
90
113
78
26
14.5
8
M10xP1.5
55
12
8
6.5
125
8
M6xP1.0
125
d104.5x2t
d72x1.5t
3,463

19

6
21.8

M5xP0.8

38

46

87
36.5
50.5
16.5

16

160
110
127

90

32
5
8

M10xP1.5

68
10
8
9
144
8

M8xP1.25
144

d124.5x2t

d85x1.5t
5,174

28



MODEL : DSF-AK

— 4-A4

PCD A5
== T
. 151

1 E BA1 HT

C6

$C4
¢C5 H7

|
PA8 *
$C2 h7
9C1
A3
|
1
+
|

$C3 h7

>
k4

Code\Model| 44 [ 47 | 20 | 25 [ 32 | _ 40 |
A1

6°8 8 8-14 14 14~ 19 19~24
A2 23 3 3°5 5 B°6 68
A3 794 9.4 9.4-16.3 16.3 16.3 >~ 21.8 218273
A4 2-M4xP0.7 2-M4xP0.7 M4xP0.7 M5xP0.8 M5xP0.8 M5xP0.8
A5 18 22 25 32 36 50
A6 10 12,5 13.5 14.5 16 20
A7 10.5 13 14 16.3 17.45 22
A8 14 16 20 22 30 3233
A9 23 4.2 43 6 5 7
B1 36 39 41 49 60 70.5
B2 9 10 13 13 15 20
B3 27 29 28 36 45 50.5
B4 7 8 10 10 12 16
B5 4 5 5 6 5 5
C1 73 79 93 107 138 160
C2 38 48 56 67 90 110
C3 56 63 72 86 113 127
C4 31 38 45 58 78 90
C5 11 10 14 20 26 32
C6 9 9 8.5 11.5 14.5 5
D1 6 6 8 8 8 8
D2 M4xP0.7 M5xP0.8 M6xP1.0 M8xP1.25 M10xP1.5 M10xP1.5
D3 23 27 32 42 55 68
8 8 8 10 12 10
D4 6 6 6 8 8 8
D5 45 45 5.5 BS 6.5 9
D6 65 71 82 96 125 144
D7 6 6 6 8 8 8
D8 M4xP0.7 M4xP0.7 M5xP0.8 M5xP0.8 M6xP1.0 M8xP1.25
D9 65 71 82 96 125 144
O-Ring d49.5x2t d55.5x2t d66.5x2t d79.5x2.0t d104.5x2t d124.5x2t
Output O-Ring d29x0.6t d35x0.6t d43x1.5t d55x1.5t d72x1.5t d85x1.5t
Weight (g) 523 705 985 1,581 3,383 5,084

& LIMING 29



A BURL & % R&¥BONICDRIVE

MODEL : DSF-MC

PC4
$C5 H7
r

$C3 h7
$C2 Hs

is
i

Code\Model| 14 | 7 [ 2 | 2 [ 32 | 40 |
A1 8 8 14 14~19 19

8-11-14
A2 3 3 3°4-°5 5 5°6 6
A3 9.4 9.4 94127~ 16.3 16.3 16.3~21.8 21.8
A4 M4xP0.7  M4xP0.7 M4xP0.7 ~ M5xP0.8 M5xP0.8 M5xP0.8 M5xP0.8
A5 4 4 4-~5 5 5 5
A6 27.5 28.5 3134 38 43.5 51
A7 M4xP0.7  M4xP0.7 M4xP0.7 M5xP0.8 M5xP0.8,M6xP1.0 M6xP1.0
A8 46 46 46~ 70 70 70,90 90
B1 52.5 55.5 58.561.5 69.5 81 92
B2 255 26.5 30.5~33.5 33.5 36 41.5
B3 27 29 28 36 45 50.5
B4 18.5 18.5 20.5~ 235 23.5 24 255
BS 7 8 10 10 12 16
B6 4 5 6 6 5 5
C1 73 79 93 107 138 160
C2 30 30 30~ 50 50 50,70 70
C3 56 63 72 86 113 127
C4 31 38 45 58 78 90
C5 11 10 14 20 26 32
C6 9 9 8.5 11.5 14.5 5
D1 6 6 8 8 8 8
D2 M4xP0.7  M5xP0.8 M6xP1.0 M8xP1.25 M10xP1.5 M10xP1.5
D3 23 27 32 42 55 68
8 8 8 10 12 10
D4 6 6 6 8 8 8
D5 4.5 4.5 5.5 5.5 6.5 9
D6 65 7 82 96 125 144
D7 6 6 6 8 8 8
D8 M4xP0.7  M4xPO0.7 M5xP0.8 M5xP0.8 M6xP1.0 M8xP1.25
D9 65 71 82 96 125 144
Output O-Ring d29x0.6t  d35x0.6t d43x1.5t d55x1.5t d72x1.5t d85x1.5t
Weight (g) 633 836 1,155 1,831 3,881 5,673

30



MODEL : DSF-S

B1

B3

B2

$C2 h7

¢C3
$C4 Hr

B6| BS

B4

A7

- €]

A9 A8

Code\Model| 44 | 47 | 20 | 25 [ 32 | 40 |
A1 8 1 11 14 14 19

A2
A3
A4
A5
A6
A7
A8
A9
B1
B2
B3
B4
B5
B6
C1
C2
C3
C4
C5
D1
D2
D3

D4

D5
D6
D7
D8
D9
Output O-Ring
Weight (g)

3
9.2
M3xP0.5

10
12

63.5
36.5
27
29.5
7
4
73
56
31
1
9
6
M4xP0.7
23
8
6
4.5
65
6
M4xP0.7
65
d29x0.6t
620

4
12.5
M4xP0.7
8
1.5
12
16
1
70.5
41.5
29
33.5
8
5
79
63
38
10
9
6
M5xP0.8
27
8
6
4.5
71
6
M4xP0.7
71
d35x0.6t
818

4
12.5
M4xP0.7
8
2.5
15
20
1
78
50
28
40
10
6
93
72
45
14
8.5
8
M6xP1.0
32
8
6
55
82
6
M5xP0.8
82
d43x1.5t
1,125

5
16
M5xP0.8
10
2.5
20
25
1
94
58
36
48
10
6
107
86
58
20
11.5
8
M8xP1.25
42
10
8
5.5
96
8
M5xP0.8
96
d55x1.5t
1,842

5
16
M5xP0.8
10
2.5
20
25
1
113.5
68.5
45
56.5
12

138
113
78
26
14.5
8
M10xP1.5
55
12
8
6.5
125
8
M6xP1.0
125
d72x1.5t
3,972

6
21.5
M6xP1.0
12
25
25
30
1
129.5
79
50.5
63
16
5
160
127
90
32
5
8
M10xP1.5
68
10
8
9
144
8
M8xP1.25
144
d85x1.5t
5,882

& UMING 31



MEMO







A BURL & % R&¥BONICDRIVE

B BUEER K Indication of Model Numbers

_oHF Qa7 fgd A ] . c &g 100 ] L RgMOTOR|

IR TY | | BUSR 520 AN L 2] BER
Type Model Style Input Style Ratio Shaft Direction Motor Type
DHF 14 A BET C: ATBE 1/50 L: ZC i

17 Unit Type Input Collet 1/80 Left Shaft
20 O: ApZEd K: AN3FE 1/100 R: A#
gg Hollow Input Shaft Input Keyway 1120 Right Shaft
e S: Ah#= o: AXchzE | |
45 Input Shaft Type Hollow Input Shaft 1= Model| [~
144 HAOoERXod
%G Ratio | | EE D
AAFE A T LUERE 1/50 Shaft direction
%20 1/80 is optional for
Input style is optional 1/100 | |style type O.
for stype A.
DHF [ ]-AC-[] DHF []-O-[]
o |
- HERX - ANEER +  AJI$ZE#EH Hollow Input Shaft

Unit Type - Input Collet

DHF [J-AK- ] DHF []-S-[]
B
. @A - AN © AJJBist Input Shatt Type

Unit Type - Input Keyway

DHF []-AO-[]

. e - ANPzE#
Unit Type - Hollow Input Shaft

34



DHF Z @454 Characteristic of DHF

Model No. Unit Ratio
%EE?@&TH%E Nm 80
Nominal Output Torque 100

120
B AH LB Max. Output Torque Nm 50~120
=B Emergency Stop Torque Nm 50~120
50
FYEN#E4E Starting Torque cNm 18000
120
50
E%Eﬁﬂﬁ%%ﬁ Nm 80
Output Starting Torque 100
120
50
ﬁ%ﬁ@ﬁ%ﬂfﬁ oNm 80
No-load Running Torque 100
120
XA E 85 A B3R Nominal Input Speed rpm 50~120
B K# A B & Max. Input Speed rpm 50~120
814 %8 Reducer Inertia Ix10-4kgm2 50~100
50
R Efficiency % 80
100
120
AR E Operating Temperature C 50~120
&8 Lubrication 50~120
%= 18 Noise Level dB 50~120

\f\

”‘“*"m“ nmr/wrﬂhﬁ'
% /

-~ - -
—_—

140 180

7.8 23 36 66 122 210 320
7.8 25 42 70 140 270 350
- 28 45 72 142 300 400

2 {Z%a7E 8 1146 2 Times of Rated Output Torque
3 {257 EE 1146 3 Times of Rated Output Torque

18 30 40 58 86 140 165
23 28 36 56 80 130 150
28 26 34 52 73 120 140

- 24 30 48 68 110 125
12 16 20 34 50 80 100
18 24 30 50 70 110 130
24 30 40 60 90 130 160

- 36 50 70 100 160 180
26 31 40 69 104 162 201
30 45 62 95 133 213 266
55 61 81 121 171 268 332

- 72 103 139 202 321 403

2,000 2,000 2,000 2,000 2,000 2,000 2,000
6,000 6,000 5,000 5,000 5,000 4,000 4,000

0.15 0.2 0.4 1 3 9 13
73 73 73 73 75 75 75
70 70 72 72 74 74 74
66 64 68 70 70 72 72

- 62 66 68 70 70 70
IR1% Environment -10°C ~ +70°C /
BATVERE Max. Working Temperature 90°C
E 5B M Synthetic Grease No.2
54 54 56 58 60 62 64

& LIMING 35



A BURL & % R&¥BONICDRIVE

MODEL - DHF-AC

B1

D1-6D2 B5 B4 B3 B2
B6

E2

9E3
BAS
PE1
#C2 he
$C1h7
A3

$C3 h7
9C4 Hr

A2

A

Code\Modell 14 | 47 | 20 | 25 | 32 | 40 | 45
A1 8 8 19 19

81114 14 1419
A2 3 3 3 45 5 5.6 6 6
A3 9.4 9.4 94127163 16.3 16.321.8 21.8 21.8
A4 M4xP0.7  M4xP0.7 M4xP0.7 ~ M5xP0.8 M5xP0.8  M5xP0.8 M5xP0.8 M5xP0.8
A5 235 235 235265 31 31 34 - 38 38 38
A6 22 23 255275 30 325 36.5 385
B1 36 39.5 455~ 44.5 495 57 64 70
B2 12.5 12.5 135 15.5 15.5 16 16 16.5
B3 7 8 8.5 12 15 15 17
B4 14.1 16 17.5 18.7 23.4 29 32
B5 2.4 3 3 3.3 3.6 4 45
B6 6 7 75 10 14 14 16
c1 70 80 90 110 142 170 190
c2 50 60 70 85 110 135 155
c3 70 80 90 110 142 170 190
c4 48 59.5 70 88 115 138 157.5
D1 8 12 12 12 12 12 18
D2 3.5 35 35 45 5.5 6.5 6.5
D3 64 74 84 102 132 158 180
D4 8 16 16 16 16 16 12
D5 3.3 3.5 3.5 45 5.5 6.5 8.5
M3xP0.5x6L M3xP0.5x6L  M3xP0.5x6L  M4xP0.7x8L M5xP0.8x8L M6xP1.0x10L M8xP1.25x10L
D6 44 54 62 77 100 122 140
E1 38 46 54 67 86 106 119
E2 15 15 2 2 2 2 2
E3 30 36 44 56 72 92 105
E4 2 2 2 2 2 2.5 3
Weight (g) 312 595 811 1,328 2,707 4,628 6,732

36



MODEL - DHF-AK

D1-¢D2 B4 B3 B2

E2

$C3 h7
$C4 Hr
9E3
3
9|
$C2 he
¢C1n7

A7

Code\Modell 14 | 47 ] 20 | 25 | 32 | 40 [ 45 |
A1

68 8 814 14 14~ 19 1924 1924
A2 33 3 3°5 5 5-6 68 68
A3 7-94 9.4 9.4-16.3 16.3 16.3~21.8 21.8~27.3 21.8~27.3
Ad 2-M4xP0.7  2-M4xP0.7 M4xP0.7 M5xP0.8 M5xP0.8 M5xP0.8 M6xP1.0
A5 18 22 25 32 36 50 50
A6 10 12.5 13.5 14.5 16 20 20
A7 10.5 13 14 16.3 17.45 22 22
A8 14 16 20 22 30 3233 3234
A9 2.3 4.2 4.3 6 5 7 5
B1 23.5 23.5 29 34 42 51 56.5
B2 7 8 8.5 12 15 18 20
B3 141 16 17.5 18.7 23.4 29 32
B4 2.4 3 3 3.3 3.6 4 4.5
B5 6 7 7.5 10 14 17 19
C1 70 80 90 110 142 170 190
Cc2 50 60 70 85 110 135 155
C3 70 80 90 110 142 170 190
C4 48 59.5 70 88 115 138 157.5
D1 8 12 12 12 12 12 18
D2 3.5 3.5 3.5 4.5 5.5 6.5 6.5
D3 64 74 84 102 132 158 180
D4 8 16 16 16 16 16 12
D5 3.3 3.5 3.5 4.5 5.5 6.5 8.5
M3xP0.5x6L M3xP0.5x6L M3xP0.5x6L M4xP0.7x8L M5xP0.8x8L M6xP1.0x10L  M8xP1.25x10L
D6 44 54 62 77 100 122 140
E1 38 46 54 67 86 106 119
E2 15 15 2 2 2 2 2
E3 30 36 44 56 72 92 105
E4 2 2 2 2 2 25 3
Weight (g) 280 567 757 1,280 2,628 4,536 6,642

& LIMING 37



A BURL & % R&¥BONICDRIVE

MODEL - DHF-AO

DHF14 ~ DHF17

B7

B1

B4

B3

B2

_B6_ B5

$C3 h7
$C4 Hr

$C2 he

$C1 h7

DHF20 - DHF25

3-M3xP0.5 25

A8

Al1_ A0

A9

A13]

I

|LA16 | A15 |

B

ﬂ_J

PA3

SA1 HT

Code\Modell 14 | 47 | 20 | 25 | 32 | 40 [ 45 |
A1 14 19 21 29 36 46 52

A2 20 25 30 38 45 59 64
A3 - - - 40 - - 64.8
A4 20 25 30 40 45 60 65
A5 20 25 30 40 50 60 65
A6 24 29.5 34.5 44.3 50 65 70
A7 - - - - 58 69 78
A8 53 56.5 51.5 55.5 65.5 79 85
A9 13 13 13 12.5 13.5 16 19
A10 20.5 24 20.5 24 26 35 36
A1 19.5 19.5 18 19 26 28 30
A12 7 7 7 7 7 10 10
A13 7 7 8 7 12 13 13
A14 18 18.5 17 18 22 27 29
A15 17 19.5 17.5 19.5 21.5 25 27
A16 18 18.5 17 18 22 27 29
A17 3-M3xP0.5  3-M3xPO0.5 M3xP0.5 M3xP0.5 M3xP0.5 M4xP0.7 M4xPO0.7
A18 - - 6 6 6 8 8
A19 - - 255 33.5 40.5 52 58
B1 53 56.5 51.5 56.5 68 80 86
B2 13.5 13.5 13 12.5 15 19 19
B3 23.5 27 29 34 41 48 53.5
B4 16 16 9.5 10 12 13 13.5
B5 7 8 8.5 12.3 14.6 15 17
B6 14.1 16 17.5 18.7 234 29 32
B7 24 3 3 3 3 4 4.5
B8 6 7 7.5 10.3 13.6 14 16
C1 70 80 90 110 142 170 190
C2 50 60 70 85 110 135 155
C3 70 80 90 110 142 170 190
C4 48 59.5 70 88 115 138 157.5
D1 8 12 12 12 12 12 18
D2 3.5 3.5 3.5 4.5 5.5 6.5 6.5
D3 64 74 84 102 132 158 180
D4 8 16 16 16 16 16 12
D5 3.3 3.5 3.5 4.5 5.5 6.5 8.5
M3xP0.5x6L M3xP0.5x6L M3xP0.5x6L M4xP0.7x8L M5xP0.8x8L M6xP1.0x10L M8xP1.25x10L
D6 44 54 62 77 100 122 140
Weight (g) 340 630 848 1,416 2,736 4,659 6,849

38



MODEL : DHF-O

B2
B6 B5
B7
*_4
11
| g2 o] =
} —| @l O
(@]
| g18°| ¢
1

E2 E3,

E4 = .
== s

Code\Modell 14 | 17 | 20 | 25 | 32 | 40 [ 45 |
19 28 35 46 52

\
A1 14 20
A2 20 25 30 38 45 59 64
A3 3-M3xP0.5  3-M3xP0.5 M3xP0.5 M3xP0.5 M3xP0.5 M4xPO0.7 M4xPO0.7
A4 - - 6 6 6 8 8
A5 - - 23.5 33.5 40.5 52 58
B1 53 56.5 51.5 56.5 68 80 86
B2 20.5 21.5 21.5 24.8 29.6 34 36
B3 20.5 23 25 25.7 31.4 38 42
B4 - - 5 6 7 8 8
BS 8 8.5 7 7 6 8 8
B6 1.5 12 13.5 15.8 22.6 26 27
B7 8 8.5 9 8.5 12 16 16
C1 70 80 90 110 142 170 190
C2 50 64 75 90 115 140 160
C3 34 45 50 60 85 100 120
C4 74 84 95 115 147 175 195
D1 8 12 12 12 12 12 18
D2 3.5 8I5) 3.5 4.5 5.5 6.5 6.5
D3 64 74 84 102 132 158 180
D4 8 16 16 16 16 16 12
D5 3.3 35 815 4.5 5.5 6.5 8.5
M3xP0.5x6L M3xP0.5x6L M3xP0.5x6L M4xP0.7x8L M5xP0.8x8L M6xP1.0x10L M8xP1.25x10L
D6 44 54 62 77 100 122 140
E1 36 45 = = = = =
E2 6.5 6.5 - - - - -
E3 5.5 5.5 - - - - -
E4 25 25 - - - - -
Weight (g) 470 808 1,168 1,709 3,500 5,983 8,254

&LIMING 39



A BURL & % R&¥BONICDRIVE

MODEL : DHF-OR

B1

B4 B3 B2

B6  B5

B7
- f
<cfH3 | B8

| ] .

4!’777751::
\ \ SRS
il 2895
| | PRV RS Y
R | I T

Code\Modell 14 [ 17 | 20 | 25 [ 32 | 40 [ 45
14 19 0 28 35 46 52

\
A1 2

A2 20 25 30 38 45 59 64
A3 3-M3xP0.5  3-M3xP0.5 M3xP0.5 M3xP0.5 M3xP0.5 M4xP0.7 M4xP0.7
A4 - - 6 6 6 8 8
A5 - - 23.5 33.5 40.5 52 58
B1 53 56.5 51.5 56.5 65.5 79 85
B2 26.5 215 255 28.5 325 40 42
B3 20.5 23 25 26 32 38 42
B4 - - 1 1 1 1 1
B5 14 8.5 11 1 1 14 14
B6 11.5 12 13.5 15.5 20.5 25 27
B7 8 8.5 9 8.5 9.5 13 12
B8 5 6 7 8 8
C1 70 80 90 110 142 170 190
C2 50 64 75 90 115 140 160
C3 34 45 50 60 85 100 120
C4 74 84 95 115 147 175 195
D1 8 12 12 12 12 12 18
D2 3.5 3.5 3.5 4.5 5.5 6.5 6.5
D3 64 74 84 102 132 158 180
D4 8 16 16 16 16 16 12
D5 3.3 3.5 25 45 5.5 6.5 8.5
M3xP0.5x6L M3xP0.5x6L M3xP0.5x6L M4xP0.7x8L M5xP0.8x8L M6xP1.0x10L M8xP1.25x10L
D6 44 54 62 77 100 122 140
D1 36 45 - - - - -
D2 6.5 6.5 - - - - -
D3 5.5 5.5 - - - - -
D4 25 2.5 - - - - -
Weight (g)

40



MODEL : DHF-S

B4

@C4 n7

Code\Model]l 14 | 47 | 20 | 25 | 32 | 40 | 45
A1 8 8 10 14 19 19

14
A2 - - 3 5 5 6 6
A3 - - 11.2 16 16 215 215
A4 M3xP0.5  M3xP0.5  M3xP0.5  M5xP0.8  M5xP0.8 M6xP1.0 M6xP1.0
A5 6 6 6 10 10 12 12
A6 14 16 20 25 25 30 30
A7 - - 2.5 25 25 2.5 2.5
A8 - - 15 20 20 25 25
B1 50.5 56 63.5 72.5 84.5 100 108
B2 15 16 175 20.8 27.1 31 35
B3 20.5 23 25 25.7 31.4 38 42
B4 15 17 21 26 26 31 31
B5 2.5 3 3 3 4.5 5 7
B6 1.5 12 135 15.8 21.6 26 27
B7 8 8.5 9 8.5 11 16 16
C1 70 80 90 110 142 170 190
c2 54 64 75 90 115 140 160
c3 36 45 50 60 85 100 120
c4 74 84 95 115 147 175 195
D1 8 12 12 12 12 12 18
D2 3.5 3.5 35 45 55 6.5 6.5
D3 64 74 84 102 132 158 180
D4 8 16 16 16 16 16 12
- 3.3 3.5 3.5 45 55 6.5 8.5
M3xP0.5x6L M3xP0.5x6L M3xP0.5x6L M4xP0.7x8L M5xP0.8x8L M6xP1.0x10L  M8xP1.25x10L
D6 44 54 62 77 100 122 140
Weight (g) 450 763 1,057 1,675 3,458 5,906 8,463

&LIMING 41



A BURL & % R&¥BONICDRIVE

AR ORURL R DSF-MC B 5 iELR LI
ROBONICDRIVE DSF-MC and Motor Mounting Instructions

2 SR L O BUR R IR IR B B LT -
Wisf s EEHZF -

Confirm the motor, and gearbox size.
Clean up the mounting surface.

~
2|

BEAT MmN &R, BeBEERREE
Bk -

Please use a motor with oil seal to
prevent grease leaking to the motor..

R BIEEERNRME

Put the motor into the gearbox vertically.

4 [O|ZE5E -
Tighten back the screw plug.

1

~

K ERRNRFHE LINEELHA -
Tighten the mounting bolt in 1~4 order
with torque wrench.

1. BRI ERE - TR B EE L
HEIE -
To be sure to tighten motor first and
then to tighten the set collar on
motor shaft.

2. BT RIEFALE - LHPHE 6
AOJEEfA) -
Please assembly in order according
to above steps, especially for step 5
and step 6.

SR » ERAANAERFEBEEIRBHE
B o WA IR AR AL AT -

Remove the plug on the adapter plate.
Rotate the set collar till the bolt is line up.

FERANRFREERIBFHEE -
Tighten the set collar bolt with torque
wrench.

42



MODEL ‘- DSS-14
RATIO : 100

52 e 5 High Precision Rotary Reducer

6-M3X0.5
10-M3X0.5 !
deep5

PCD25

?83
®70
$45.1

*g

?5

8- 3.5
PCD76.66 353
8-M3X0.5 06 4-M4X0.7
10 PCD77 = deep5

PCD67

= m¥E 14 Features

XaEH L H%E Nominal Output Torque

o9

A FF & Z Permissible Thrust Load
K[FHFEEHE Permissible Moment Load

& UIMING 43



MEMO




CYKODRIVE

5 R 22 1R AR L SR 1




SiEZ R EH CYKODRIVE

CYKODRIVE Cycloidal Reducers

® CYKODRIVE 5B 2 A IR ES B L RREERN—TEE
g -
The CYKODRIVE series reducer is a type of transmission developed
on the basis of cycloidal pinwheel transmission.

o HHFARETERTERERFBMNER WITEREEE M8 -
It consists of two parts: the involute cylindrical gear planetary
reduction mechanism and the cycloidal pinion planetary reduction
mechanism.

o AR ITEE WA NREEN R > (FRBRGHRESLONEBA -
The involute planetary gear is integrated with the camshaft as an
input to the cycloidal pinion drive section.

= o NEREHENEAE R/ OES - LERERIERH S ERE 18 0§
MEWmRDEERE HOEE 1 @ -
The camshaft drives the cycloidal gear to perform eccentric motion.
The cam shaft rotates clockwise for 1 turn, and the cycloidal gear
moves 1 tooth in the counterclockwise direction.

KEFERYSE R R Indication of Model Numbers

| Rs | N J 20 B 41 BP0 Jg] MOTOR

R R VNVAEZN itk IREE BRER FEERSE
Type Input Model Ratio Backlash Class Motor Type
RS E: AH= 6 41 Ps = 1 arcmin
RD Component Type 20 ~ PO = 3 arcmin
RC N: AF3EES 40 171 P1 = 5 arcmin
Motor Flange Type 181%
S: AAER 160
Input Shaft Type 320 Note 1
L: AER

[Note 1] AR EWIASRAEL - FE2RRTER °
See the dimension page for gear ratio details.

46



SRR AR R

fied8 7 R BN NEIFTTR © B EREERTA ¢

The housing is fixed, and the output shaft drive:

@ FEHEFEIRINRETE - B BB LNER
HH D B A e 8 75 () B g A B R e 88 75 ) AR [E] o
WIREE S L8R R ATERIRLE -

The rotation direction of the output shaft is
the same as the input shaft.

The reduction ratio is equal to the reduction
ratio on the catalog.

rV WA AR
-

E mix U E Selection of Type

@ L HHBEE - REREFERRINRE LB

IR FE RS NS B TR 8 75 (o) g A\ B RO iR dE 75 [ AR
BIREEE R BY SR ERORIEREER 1 -

The output shaft is fixed, and the housing drive:

The rotation direction of the housing is the opposite to
the input shaft.

The reduction ratio is calculated the reduction ratio on
the catalog minus 1.

WA - WAER

E—— N

R-1

\‘\
(]

A 31 ¥ = Input Type

E #HH

RS

RS

RD

R

RC
H Ao ZE
Hollow
Output

D
RCE

N AT1EE
Component Type Motor Flange Type

E RSN

E RDN
Shaft . ‘

RCN

S AN#=0 LABNER

Input Shaft Type

RSS RSL
RDS RDL
RCS RCL

& LIMING 47



SiEZ R EH CYKODRIVE

= mi5 14 Characteristic

° SulsE - BEIE - BRE - KA

® High reliability, high rigidity, high precision, high

1. RIECEAREEERET > HHBIEFEKX - torque

2. MEERGGHEE  SEIESIEINRE - 1. The optimized cycloidal tooth design makes it very high
- A e o . twisting stiffness.

3. A E B ROR &R # QL 1A B S

BB BN D imEE - 2.

4. BMEMENSEEREEE 5 MrEER - Em

th R - 3.

5. BIEEMN T > 15
arcmin) * EEYES -

EmE R/ (<1

4
o EKFHEFH
1. ERANEBRE - WiESAR P65 REBK 5

fRAE

2. RAFRARHER BN RSB AR ME
MEELR  EHRENLRIFETHE -

RSN

R

( R

2.

Dual cycloidal wheels, multi-toothed meshing for
increased strength.

Double-supported angular contact ball bearings are used
to increase the bearing span and increase the rigidity of
the output end.

. Even the torque up to 5 times rated torque,the product

will not be damaged.

. High-precision machining technology makes the product

have small backlash (<1 arcmin) and high operating
efficiency.

® Easy installation and maintenance
1.

Grease is sealed, protection class IP65. No need to
replace the grease.

The motor flange is ready for each brand and a collet-
type locking mechanism makes the installation of motor
very easy.

5 )
R N
\
K = s

: o - ’. N
& i

ShRR

48






SiEZ R EH CYKODRIVE

MODEL - RSEG6

Unit: mm
RATIO : 41 ~61 81121
A #6802
B 215 0
C 13
D 21.5
58
6 C co
Input gear A o
TS
DR
o ~
e
Snap ring A
for shaft D
53
91 2.7 3
Input shaft 53.5 .
VIEW. 24 12 8 v
PCD58 S
4-M8X1.25 PCD113 4l T& 2.1 L] e
deep15 - 2-M5X0.8 | f\ AVIEW ©
R Input shaft
o, As shown below input gear
o) S can be assembled from
NENESEE =il '=| | the side opposite to
< = T (o)) o i
2 ol © i ] — 4 K| €| &| ol |above diagram.
S8 & S S 8 8 2|| Output shaft 9
©f © OLLD T ©||  mounting face 7—'(
PCD113 r
8-05.8 65
1.5 91

e it Characterstie | 3 | @iume | Rsm

?u?pﬁéa%fi?ii)rﬁng Bearing AR EREhE Angular Contact Ball Bearing
XA XE B3 LT 1 %E / Rated Output Torque Nm 60
iéﬁ%*ﬁéﬁg@ﬁsg& l:)t Ig:gﬂee Tovor Nm 5 {2 X528 L 4B 5 Time of Rated Output Torque
Ex AR AE / Max. Acceleration Torque Tos Nm 2 fERAEH H %E 2 Times of Rated Ouput Torque
B8 E / Inertia Moment kg.m? 1.15x 10
REE ) S8R / Rated Output Speed rpm 15
B K H) 4 #3% / Max. Output Speed rpm 55
BFFE AR / Permissible Input Speed rpm 3,000
PR / Backlash Ps J, arcmin =2
PR / Backlash PO J, arcmin =4
P& / Backlash P1 J; arcmin =6
REF[E 7] / Max. Radial Force Fyp N 2,100
Z[EFFEME ] / Max. Axial Force Fius N 1,500
S5 FHAERE : >6,000 (S1 E4EEHE : >3,000 hrs)
XAxE=nn / Rated Life L hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
HEE/IE / Torsional Rigidity Nm/arcmin 50
R | Efficiency n % = 85
E= / Weight kg 2.8

50



MODEL - RSE20

Unit: mm
RATIO : 41 ~61 81~ 121 161
A #6902
B 215 301
C 16.5
D 26
7c 28
Input gear A m
0 EA ©
(i SE_dg
Snap ring H — ©
for shaft D
4 274
64.5 66
106 (66)
30 20 9 '
PCD72 Input shaft \ o
AM10X1.5 VIEW 5.5 10 ~ 9
T A AVIEW ©
Input shaft
As shown below input gear
=y I can be assembled from
HESRESEN: B N Z| | the side opposite to
0l NI 4 Q| S| || above diagram.
Sl » N% a8 v o Output shaft 11
5| o1 [P S||  mounting face
PCD135 @& D Tomioxis LM 4
16-906.8 deep18
2.5 106

e it Characterstie | % | @one | RsEw

?u?pﬁéa%fi?ii)rﬁng Bearing AR EREhE Angular Contact Ball Bearing
XA XE B3 LT 1 %E / Rated Output Torque Nm 200
iéﬁ%*ﬁéﬁg@ﬁsg& l:)t Ig:gﬂee Tovor Nm 5 {2 X528 L 4B 5 Time of Rated Output Torque
Ex AR AE / Max. Acceleration Torque Tos Nm 2.5 fZEEEH $ %8 2.5 Times of Rated Ouput Torque
BB E / Inertia Moment kg.m’ 2x10*
REE ) S8R / Rated Output Speed rpm 15
B K H) 4 #3% / Max. Output Speed rpm 50
BFFE AR / Permissible Input Speed rpm 3,000
PR / Backlash Ps J, arcmin =1
PR / Backlash PO J, arcmin =3
P& / Backlash P1 J; arcmin =<5
B[N / Max. Radial Force Fop N 6,500
REFER[E 7] / Max. Axial Force Frus N 4,300
S5 FHAERE : >6,000 (S1 E4EEHE : >3,000 hrs)
XAxE=nn / Rated Life L hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
HEE/IE / Torsional Rigidity Nm/arcmin 70
R | Efficiency n % = 85
E= / Weight kg 5.1

&LIMING 51



SiEZ R EH CYKODRIVE

MODEL - RSE40

RATIO : 41 ~61~ 81~ 121~ 161

8c_ 35
Input gear A m
ST s
Il = o ~
N 5]
I i 2
Snap ring [ yiol
for shaft D
74.5
120
PCD98 Input maﬂ
4-M14X2.0

Input shaft As shown below input gear

- can be assembled from
= Ay the side opposite to
g above diagram.

@37
®»123
®160 n7

Output shaft 13
mounting face

$135 n7
$50 Hr

PCD175 3.5

16-99

25 120

e it Characterstie | % | @one | Rsea0

?u?pﬁéa%fi%ﬁ&rﬁng Bearing AR EREhE Angular Contact Ball Bearing
XA XE B3 LT 1 %E / Rated Output Torque Nm 400
iéﬁ%*ﬁéﬁg@ﬁslg& l:)t Ig:gﬂg Tovor Nm 5 {2 X528 L 4B 5 Time of Rated Output Torque
Ex AR AE / Max. Acceleration Torque Tos Nm 2.5 fZEEEH $ %8 2.5 Times of Rated Ouput Torque
BB E / Inertia Moment kg.m’ 5x10*
REE ) S8R / Rated Output Speed rpm 15
B K H) 4 #3% / Max. Output Speed rpm 45
BFFE AR / Permissible Input Speed rpm 3,000
PR / Backlash Ps J, arcmin =1
PR / Backlash PO J, arcmin =3
P& / Backlash P1 J; arcmin =<5
B[N / Max. Radial Force Fop N 8,600
BEFEE ] / Max. Axial Force Fous N 5,700
S5 FHAERE : >6,000 (S1 E4EEHE : >3,000 hrs)
XAxE=nn / Rated Life L hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
HEE/IE / Torsional Rigidity Nm/arcmin 100
R | Efficiency n % = 85
E= / Weight kg 9.7

52



MODEL - RSES80

RATIO : 45 ~66 ~ 81~ 101~ 171

Unit: mm

B Type
AType | (1101
#6004 #6905
@20 5o, 925 55

21 18
35.5 325
12__c_ &8
Input gear A
dor sl
mu 8312
’ LL—\ S
Snap ring W _L
for shaft D
60.5 48 5
83.5 84 A
142.5 / K
48 15 113 —!
Input shaft N <
12'-31\/|CsDx114_%5 VIEW 10 L7 e
1 A AVIEEW ©
Input shaft As shown below input gear
L can be assembled from
~ ~| L =T\ ~| | the side opposite to
<| | ol < o (g; <| | above diagram.
§ QS a 5 g sl g Output shaft 17
YRS ! ©|| mounting face TT
L [[2s
2.5 142.5

?u?pﬁéa%fi?ii)rﬁng Bearing AR EREhE Angular Contact Ball Bearing
XA XE B3 LT 1 %E / Rated Output Torque Nm 800
iéﬁ%*ﬁéﬁg@ﬁsg& l:)t Ig:gﬂee Tovor Nm 5 {2 X528 L 4B 5 Time of Rated Output Torque
Ex AR AE / Max. Acceleration Torque Tos Nm 2.5 fZEEEH $ %8 2.5 Times of Rated Ouput Torque
BB E / Inertia Moment kg.m’ 9x10*
REE ) S8R / Rated Output Speed rpm 15
B K H) 4 #3% / Max. Output Speed rpm 42
BFFE AR / Permissible Input Speed rpm 3,000
PR / Backlash Ps J, arcmin =1
PR / Backlash PO J, arcmin =3
P& / Backlash P1 J; arcmin =<5
B[N / Max. Radial Force Fop N 12,500
BEFEE ] / Max. Axial Force Fous N 8,200
S5 FHAERE : >6,000 (S1 E4EEHE : >3,000 hrs)
XAxE=nn / Rated Life L hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
HEE/IE / Torsional Rigidity Nm/arcmin 150
R | Efficiency n % = 85
E= / Weight kg 15.5

&LIMING 53



SiEZ R EH CYKODRIVE

MODEL ' RSE110
RATIO : 416181~ 121 * 161 unit: mm
oo ATyee | BES |
A
B
C
D

#6005 #6906
@25 505 @30 1o

24.5 21.5
39 36
12_Cc 28
Input gear W A o
N ©
fE s
S
Snap ring L) &3
for shaft D
119.5 92.5
Input shaft 67 19 =
PCD138 VIEW. 14 15 s

9-M12X1.75

\
‘OJ A Input shaft
, As shown below input gear
can be assembled from
= | [ N v the side opposite to
3 o & = ] ps S above diagram.
AEIEES n S 5| | Output shaft 195
o e © T mounting face
PCD226 FF r
2-M10X1.5
PCD226
12- 11 PCD100
3-M12X1.75
deep20
5 119.5

e it Characterstie | 3 | @ome | RsE0

?uﬁﬁéa%fi%ﬁéi) i B A ARIRENE Angular Contact Ball Bearing
XA XE B T 1 %E / Rated Output Torque Nm 1,100
igﬁg*ﬁéﬁg%ﬁglg& l:)t Ig:gﬂee Tovor Nm 5 {2 X528 L 4B 5 Time of Rated Output Torque
Ex AR AE / Max. Acceleration Torque Tos Nm 2.5 fZEEEH $ %8 2.5 Times of Rated Ouput Torque
B8 E / Inertia Moment kg.m? 15x 10
REE ) S8R / Rated Output Speed rpm 15
B K H) 4 #3% / Max. Output Speed rpm 35
BFFE AR / Permissible Input Speed rpm 3,000
# P& / Backlash Ps J, arcmin =1
PR / Backlash PO J, arcmin =3
P& / Backlash P1 J; arcmin =<5
REF[E 7] / Max. Radial Force Fyp N 16,000
REFER[E 7] / Max. Axial Force Frus N 12,000
S5 FHAERE : >6,000 (S1 E4EEHE : >3,000 hrs)
XAxE=nn / Rated Life L hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
HEE/IE / Torsional Rigidity Nm/arcmin 210
R | Efficiency n % = 85
E= / Weight kg 20.5

54



MODEL : RSE160
Unit: mm “gd . \

RATIO : 41 ~61~ 81~ 121~ 161 !w :‘(\

'
4
@30 0% @35 90 \3 | ‘N

A #6006 #6907
B

© 26.5 235 e
D 435 40.5

5
2
[}
8
J
.
ES
-0.01
®B 0.02

© <
S 3 S
Snap ring S
for shaft D
104.5 N
104
183.5 68(5 )25 \/ [
PCD1 Input shaft ' . o 8
15\iBX1 25 VIEW. 8 15 N 18
- ‘ A VIEW
.1 A
As shown below input gear
Ef Input shaft can be assembled from
the side opposite to
° B B 5 = A} ool | @bove diagram.
e Q- S| N||  Output shaft 19
S | & = L S 9 mounting face
S 8 ©
PCD260 |
PCD145 |
6-M16X2.0 139
deep30
2 183.5

e it Characterstie | % | @iume | R0

%ﬁuﬁﬁéa%fi?;i{)rﬁng Bearing AR EREhE Angular Contact Ball Bearing
XA XE B3 LT 1 %E / Rated Output Torque Nm 1,600
iéﬁ%ﬁéﬁg@ﬁslg& l:)t Ig:gﬂg Tovor Nm 5 {2 X528 L 4B 5 Time of Rated Output Torque
Ex AR AE / Max. Acceleration Torque Tos Nm 2.5 fZEEEH $ %8 2.5 Times of Rated Ouput Torque
B8 E / Inertia Moment kg.m? 25x10™
REE ) S8R / Rated Output Speed rpm 15
B K H) 4 #3% / Max. Output Speed rpm 27
BFFE AR / Permissible Input Speed rpm 3,000
# P& / Backlash Ps J, arcmin =1
PR / Backlash PO J, arcmin =3
P& / Backlash P1 J; arcmin =<5
B[N / Max. Radial Force Fop N 19,000
ZREFFEME 7] / Max. Axial Force Fius N 15,000
S5 FHAERE : >6,000 (S1 E4EEHE : >3,000 hrs)
XAxE=nn / Rated Life L hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
HEE/IE / Torsional Rigidity Nm/arcmin 300
R | Efficiency n % = 85
E= / Weight kg 31.7

& LIMING 55



SiEZ R EH CYKODRIVE

MODEL - RSE320

RATIO : 41 ~61~ 81~ 121~ 161

o e

Unit: mm

A #6007
-0.01
B @35 Jop
C 32
16__c_ 33 D 51
Input gear w A o
K & S
s o 3
S iS!
Snap ring L &
for shaft D
122
202
125 | o
Input shaft 795 30 @
15 VIEW . ~
PCD304 9.5 201 3.1
2-M12X1.75 \ IR Inout shaft
= As shown below input gear
can be assembled from
~ o~ o~ . the side opposite to
9 e - ! 233 above diagram.
ol 328 8l - SN | Output shaft
o N | ™ ISIES ) 24
o o © mounting face
PCD224 PCD304
18-M10X1.5 2-M12X1.75
deep18
PCD172 |
6-M16X2.0 j_]i
deep30

4% Characteristic

W asT B/

Output Table Supporting Bearing
XA XE B3 LT 1 %E / Rated Output Torque

B A HIR4E / Max. Output Torque
/B / Emergency Stop Torque

EANNZR S4B /| Max. Acceleration Torque

BB = / Inertia Moment
REE ) S8R / Rated Output Speed
Bx KB #53E / Max. Output Speed

BFFE AR / Permissible Input Speed

B[4 / Backlash Ps
B8 / Backlash PO
22 / Backlash P1

=
=

ig

BE=1n / Rated Life

FFfE @A / Max. Radial Force
ZrEh@ ] / Max. Axial Force

e/t / Torsional Rigidity

= | Efficiency
E= / Weight

T 2NOT

TZB

Nm
Nm

Nm
kg.m’
rpm
rpm
rpm
arcmin
arcmin
arcmin

N

hr

Nm/arcmin

%
kg

A ARIREE Angular Contact Ball Bearing
3,200
5 {2 X528 L 4B 5 Time of Rated Output Torque

2.5 {28 EHi T 14E 2.5 Times of Rated Ouput Torque
32x10*
15
21
3,000

= q
=3
=5

25,300

20,000

S5 FHAERE : >6,000 (S1 E4EEHE : >3,000 hrs)
S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)

980
= 85
50.8

56






SiEZ R EH CYKODRIVE

MODEL - RSN6

RATIO : 41 ~ 61~ 81~ 121

Unit: mm
A1 707590
A2 M4 ~ M5 ~ M6
A3 506070
A4 64 ~ 70~ 80
PCD58 PCD113
4-M8X1.25 2-M5X0.8

PCD113 D 2-M8X1.25
8-5.8 deep15

102.5
81 21.5
28 12 8
88 16
N
- 1
:I o]
= = 4 — I =
8g |- e g 8
| & A 5
j
|/
- 1
36 2-1/8"PT

ot Charactorstic | fos [Wtume | Rowe |

W F A B/
Output Table Supporting Bearing

XA XE B 1 4E / Rated Output Torque

B A B L 3R4E / Max. Output Torque
£{=184E / Emergency Stop Torque

B AR 1% / Max. Acceleration Torque Ty
B 1418 = / Inertia Moment

RAXE i ¥ 2R / Rated Output Speed

B KB 18528 / Max. Output Speed

BEFE AR / Permissible Input Speed

TZNOT

24 / Backlash Ps J,
£ / Backlash PO J,
2R / Backlash P1 J,
B E[E A | Max. Radial Force [
BEFEh[E ] / Max. Axial Force Foug
REE S / Rated Life Ly

HEEmItE / Torsional Rigidity

R | Efficiency 7
2 & B HE / Synthetic Grease

E= / Weight

R AREIRENE Angular Contact Ball Bearing

Nm 60
Nm 5 XA E 8 L 4E 5 Time of Rated Output Torque
Nm 2 ZRAEH E H%E 2 Times of Rated Ouput Torque
kg.m? 1.15x 10
rpm 15
rpm 55
rpm 3,000
arcmin =2
arcmin =4
arcmin =6
N 2,100
N 1,500
S5 FHAE : >6,000 (S1 ZE4&EE : >3,000 hrs)
hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
Nm/arcmin 50
% = 85
g 100
kg 3.19

58



MODEL - RSN20

RATIO : 41 ~61~ 81~ 121~ 161

Unit: mm
A1 707590
A2 M4 ~ M5 ~ M6
A3 506070
A4 64 ~ 70 ~ 80
A5 14~ 19
116.5
A6 36 ~ 46 95 215
PCD72 82 .20 9
4-M10X1.5 75 10 16
deep18 T
il A
L) RN
© P = o —— - E=
EEE 428
i ol i@k S g
i
Y
PCD135 — j/
2-M6X1.0
PCD135 2. M10X1.5 A6 \%

16-06.8 deep18

gﬁuﬁﬁ?ﬁfgﬂfimn o Bearing $4B3E % % Angular Contact Ball Bearing
XA XE B 1 4E / Rated Output Torque Nm 200
i‘fé?ﬁfﬁ?gn{agiﬁcsg& L:Dt .I-I_—g:gz: Tovor Nm 5 XA E 8 L 4E 5 Time of Rated Output Torque
E AN A28 / Max. Acceleration Torque T, Nm 2.5 {2258 S%E 2.5 Times of Rated Ouput Torque
BB E / Inertia Moment kg.m? 2x10*
RAXE i ¥ 2R / Rated Output Speed rom 15
B KB 18528 / Max. Output Speed rpm 50
BEFE AR / Permissible Input Speed rom 3,000
P& / Backlash Ps J, arcmin =1
& P& / Backlash PO J, arcmin =3
# P& / Backlash P1 J, arcmin <5
BT[] / Max. Radial Force e N 6,500
AETEE 7] / Max. Axial Force o N 4,300
S5 FEHAIE : >6,000 (S1 &8 : >3,000 hrs)
RETE =70 / Rated Life L hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
HEE4 / Torsional Rigidity Nm/arcmin 70
R | Efficiency n % = 85
25 REEMAS / Synthetic Grease g 170
E= / Weight kg 5.65

&LIMING 59



SiEZ R EH CYKODRIVE

MODEL - RSN40

RATIO : 41 ~61~ 81~ 121~ 161

Unit: mm
A1 90 ~ 100 ~ 115~ 145
A2 M5 ~ M6 ~ M8
A3 708095110
A4 92~ 110 ~ 130
A5 1924
133.5
A6 4959 107 26.5
33 24 13
PCD98 9 10 9
4-M14X2.0 =1

11
]
I

== 1AL o &

g 8 R RiEEE

sl ® icT
a0

PCD175 _ A6 2-1/8"PT 4-A2
16- 9

ot Charsctorste |t [Wtume | Rona |

gﬁuﬁﬁ?ﬁfgﬂfimn o Bearing $4B3E % % Angular Contact Ball Bearing
XA XE B 1 4E / Rated Output Torque Nm 400
i‘fé?ﬁfﬁ?gn{agiﬁcsg& L:Dt .I-I_—g:gz: Tovor Nm 5 XA E 8 L 4E 5 Time of Rated Output Torque
E AN A28 / Max. Acceleration Torque T, Nm 2.5 {2258 S%E 2.5 Times of Rated Ouput Torque
BB E / Inertia Moment kg.m? 5x10*
RAXE i ¥ 2R / Rated Output Speed rom 15
B KB 18528 / Max. Output Speed rpm 45
BEFE AR / Permissible Input Speed rom 3,000
P& / Backlash Ps J, arcmin =1
& P& / Backlash PO J, arcmin =3
# P& / Backlash P1 J, arcmin <5
BT[] / Max. Radial Force e N 8,600
AETEE 7] / Max. Axial Force o N 5,700
S5 FEHAIE : >6,000 (S1 &8 : >3,000 hrs)
RETE =70 / Rated Life L hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
HEE4 / Torsional Rigidity Nm/arcmin 100
R | Efficiency n % = 85
25 BB HAS / Synthetic Grease g 290
5= / Weight kg 10.83

60



MODEL - RSN80

RATIO : 45 ~66 ~ 81~ 101~ 171

Unit: mm

ENEEDE

A1 115~ 145~ 165

A2 M6 > M8 ~ M10

A3 95~ 110~ 130

Ad 122 ~ 130 ~ 150

A5 24~ 28

A6 27.3~31.3 121,;57 35.5

| 50 20 _8
13 10_| 10

. ‘ OA4
. |
~
i
= S o
N =) | - o
82 o l <2
RS s R
1 @ -—A
PCD142 PCD206 L~
| g : 1 L_| {
PCD206 PCD110 65 2-1/4"PT

- .l 6-M10X1.5
16-99 / deep19

4% Characteristic BE{iI Unit RSN80

gﬁuﬁﬁ?ﬁfgﬂfimn o Bearing $4B3E % % Angular Contact Ball Bearing
XA XE B 1 4E / Rated Output Torque Nm 800
i‘fé?ﬁfﬁ?gn{agiﬁcsg& L:Dt .I-I_—g:gz: Tovor Nm 5 XA E 8 L 4E 5 Time of Rated Output Torque
E AN A28 / Max. Acceleration Torque T, Nm 2.5 {2258 S%E 2.5 Times of Rated Ouput Torque
BB E / Inertia Moment kg.m? 9x10*
RAXE i ¥ 2R / Rated Output Speed rom 15
B KB 18528 / Max. Output Speed rpm 42
BEFE AR / Permissible Input Speed rom 3,000
P& / Backlash Ps J, arcmin =1
& P& / Backlash PO J, arcmin =3
# P& / Backlash P1 J, arcmin <5
BT[] / Max. Radial Force e N 12,500
AETEE 7] / Max. Axial Force o N 8,200
S5 FEHAIE : >6,000 (S1 &8 : >3,000 hrs)
RETE =70 / Rated Life L hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
HEE4 / Torsional Rigidity Nm/arcmin 150
R | Efficiency n % = 85
25 REEMAS / Synthetic Grease g 480
5= / Weight kg 17.06

&LIMING 61



SiEZ R EH CYKODRIVE

MODEL - RSN110

RATIO : 41 ~61~ 81~ 121~ 161

Unit: mm
A1 115 ~ 145 ~ 165
A2 M6 ~ M8 ~ M10
A3 95~110~ 130
A4 122 ~ 130 ~ 150
A5 28 ~ 32
A6 810 185.5 AB
A7 31.3-353 150 35.5 :
A8 70 - 90 67 19 20 s <
PCD138 14 15} 10 AVIEW
9-M12X1.75 mE OAd
T K M8X1.25
0
SEN IRV
il @t -—A
PCD226 L / ~
12-911
45 2-1/4"PT
A8

%ﬁuﬁﬁ?ﬁfiﬂﬁ%mn o Bearing 5 f% Bk Angular Contact Ball Bearing
RB7E 87 1 5B / Rated Output Torque Nm 1,100
i‘f%?ﬁfﬁ?gw{agﬁ;jg& L:)t .I-I_—g:gz: Tovor Nm 5 XA E 8 L 4E 5 Time of Rated Output Torque
E AN A28 / Max. Acceleration Torque T, Nm 2.5 {2258 S%E 2.5 Times of Rated Ouput Torque
BB E / Inertia Moment kg.m? 15x 10"
RAXE i ¥ 2R / Rated Output Speed rom 15
B A B #2R / Max. Output Speed rpom 35
BEFE AR / Permissible Input Speed rom 3,000
P& / Backlash Ps J, arcmin =1
& P& / Backlash PO J, arcmin =3
# P& / Backlash P1 J, arcmin <5
BT[] / Max. Radial Force e N 16,000
AETEE 7] / Max. Axial Force o N 12,000
S5 FEHAIE : >6,000 (S1 &8 : >3,000 hrs)
RETE =10 / Rated Life L hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
HEE4 / Torsional Rigidity Nm/arcmin 210
R | Efficiency n % = 85
25 EE RS / Synthetic Grease g 710
&5 / Weight kg 22.45

62



MODEL - RSN160

RATIO : 41 ~61~ 81~ 121~ 161

A1
A2
A3
A4
A5
A6

PCD180
15-M8X1.25

PCD260
12-913

4% Characteristic

Unit: mm

T

145 ~ 165 ~ 200
M8 ~ M10 ~ M12
110 ~ 130 ~ 180
146 ~ 150 ~ 190
3235
35.3 ~ 38.3

W Fa g/

Output Table Supporting Bearing
XA XE B 1 4E / Rated Output Torque

B A B L 3R4E / Max. Output Torque
£{=184E / Emergency Stop Torque

PCD145
6-M16X2.0

PCD260
2-M12X1.75

TZNOT

B AR 1% / Max. Acceleration Torque Ty

BB 2 / Inertia Moment

RAXE i ¥ 2R / Rated Output Speed
B KB 18528 / Max. Output Speed
BEFE AR / Permissible Input Speed

2[4 / Backlash Ps
2[4 / Backlash PO
2[4 / Backlash P1

BHFLm@A / Max. Radial Force

ZREFERIE 7] / Max. Axial Force

&

TE=fn / Rated Life

HEEmItE / Torsional Rigidity
R | Efficiency

25 EE RS / Synthetic Grease

E= / Weight

2005 10
165 35.5
735 2520 HMD b
13 151 10 AVIEW
| OA4
M10X1.5
- k i ALY
i (2
. j = R
ol &l = e 2 S
22 1L o §
oY § '&Y PR \&
AR
PG
1 { T

84 2-3/8"PT

Nm
Nm

Nm
kg.m?
rpm
rem
rpm
arcmin
arcmin
arcmin
N

N

hr

Nm/arcmin

%
9
kg

R AREIREN A Angular Contact Ball Bearing
1,600
5 {ZEAE 8 L /46 5 Time of Rated Output Torque

2.5 {2258 S%E 2.5 Times of Rated Ouput Torque
25x 10"
15
27
3,000
=1
=3
=5
19,000

15,000

S5 FHAE : >6,000 (S1 ZE4&EE : >3,000 hrs)
S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)

300
= 85
800
35.25

& LIMING 63



SiEZ R EH CYKODRIVE

MODEL - RSN320

RATIO : 41 ~61~ 81~ 121~ 161

coss "

A1
A2
A3
A4
A5
A6

PCD304
2-M12X1.75

PCD224

18-M10X1.5
deep18

PCD304
16-913

Unit: mm

165 ~ 200 ~ 215
M8 ~ M10 ~ M12
114.3 ~ 130 ~ 180
182 ~ 200
35~ 38
38.3 ~41.3

315

=)

4% Characteristic

W Fa g/

Output Table Supporting Bearing
XA XE B 1 4E / Rated Output Torque

B A B L 3R4E / Max. Output Torque
£{=184E / Emergency Stop Torque

B AR 1% / Max. Acceleration Torque

BB 2 / Inertia Moment

RAXE i ¥ 2R / Rated Output Speed
B KB 18528 / Max. Output Speed
BEFE AR / Permissible Input Speed

Z5B4 / Backlash Ps

Z5B& / Backlash PO

Z5B8 / Backlash P1

B[ A | Max. Radial Force
BEFERE A / Max. Axial Force

&

TE=fn / Rated Life

HEEmItE / Torsional Rigidity
R | Efficiency

25 EE RS / Synthetic Grease
E= / Weight

PCD172

6-M16X2.0
deep30

PCD304
2-M12X1.75

TZNOT

T

2255 10
180 455
8 30 25 ORS <
6 20 12 AVIEW
| DA4
- | M10X1.5

@325
$284 n7
@245 n7

£

|

i
=

‘v

|

x

|

J

? A3 Hs
@284 nr

S

=
/rﬂh‘
il

L A
>

N\

Nm
Nm

Nm
kg.m?
rpm
rem
rpm
arcmin
arcmin
arcmin
N

N

hr

Nm/arcmin

%
9
kg

84 2-3/18"PT

R AREIREN A Angular Contact Ball Bearing
3,200
5 {ZEAE 8 L /46 5 Time of Rated Output Torque

2.5 {2258 S%E 2.5 Times of Rated Ouput Torque
32x10*
15
21
3,000
=1

=3
=5
25,300

20,000

S5 FHAE : >6,000 (S1 ZE4&EE : >3,000 hrs)
S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)

980
= 85
1,700
55.9

64






SiEZ R EH CYKODRIVE

MODEL - RDN6

RATIO : 41 ~61~ 81~ 121~ 161

A1
A2
A3
A4

PCD113
8-95.8

70~
M4 -
50~
64 -

Unit: mm

75~
M5 ~
60 »
70~

90
M6
70
80

W F A E/
Output Table Supporting Bearing

XA XEH) 3 4E / Rated Output Torque

Ex A E H %6 / Max. Output Torque
{21846 / Emergency Stop Torque

B AR A% / Max. Acceleration Torque

BB E / Inertia Moment

PCD113
2-M5X0.8

REXE i ¥ 2R / Rated Output Speed

B AE 185K / Max. Output Speed
BEFE AR / Permissible Input Speed
Z5B4 / Backlash Ps
Z5B8 / Backlash PO
Z5B8 / Backlash P1

B @A / Max. Radial Force
ZREFERIE ] / Max. Axial Force

&

TE=fn / Rated Life

HEEmMItE / Torsional Rigidity
R | Efficiency

25 B HAS / Synthetic Grease

E= / Weight

123
101.5 215
28 128
s 8 6
H
-

ol | B B g S g =
ErE ISEE
SRR o 3@ sl &
41.5 2-1/8"PT

Nm
Tonor Nm
Ty Nm
kg.m?
rpm
rpm
rpm
J, arcmin
J, arcmin
J, arcmin
F,p N
Frup N
I hr
Nm/arcmin
n %
g
kg

R AREIRENE Angular Contact Ball Bearing
60
5 {ZEAE 8 L /46 5 Time of Rated Output Torque

2 {ZXaE# 4 7125 2Times of Rated Ouput Torque
1.15x 10*

15
55

3,000
=2
=4
=6

2,100

1,500

S5 FHAE# : >6,000 (S1 ZE4&EE : >3,000 hrs)
S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)

50
= 85
100
3.43

66




MODEL - RDN20

RATIO : 41 ~61~ 81~ 121~ 161

Unit: mm

e ronm |

A1 90 ~ 100 ~ 115 ~ 145

A2 M5 ~ M6 ~ M8
A3 708095~ 110
A4 92 ~110~ 130
A5 1924
A6 51~ 63
A7 820
A8 26.5 ~ 38.5
A9 146 ~ 158
PCD72
4-M10X1.5
deep18

2-M10X1.5
deep18

PCD135
16-06.8

%ﬁi“ih%%/
Output Table Supporting Bearing

XA XE B L 4E / Rated Output Torque

B A B L 3R4E / Max. Output Torque
£{=184E / Emergency Stop Torque

B AR A% / Max. Acceleration Torque
B8 2 / Inertia Moment

REXE i ¥ 2R / Rated Output Speed

B AE 185K / Max. Output Speed
BEFE AR / Permissible Input Speed
25PR / Backlash Ps

Z5B8 / Backlash PO

Z5B8 / Backlash P1

B @A | Max. Radial Force
BEFERE A / Max. Axial Force

%

E=1n / Rated Life

HEEmMItE / Torsional Rigidity
R | Efficiency

38 HA5 / Synthetic Grease
E= / Weight

PCD135

TZNOT

T

Nm
Nm

Nm
kg.m?
rpm
rem
rpm
arcmin
arcmin
arcmin
N

N
hr

Nm/arcmin
%
g
kg

A9
119.5 A8
30 20 9
55| 1 AT
]
1
i [ 2
o B Zx 'FiiﬁS?E
SRR g
ISURSTAS I S o
g Q
\
S AB 2-1/8"PT

R AREIRENE Angular Contact Ball Bearing
200
5 {ZEAE 8 L /46 5 Time of Rated Output Torque

2.5 {2258 S1%E 2.5 Times of Rated Ouput Torque
2x10*
15
50
3,000
=1

<3
<5

6,500

4,300

S5 FHAE# : >6,000 (S1 ZE4&EE : >3,000 hrs)
S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)

70
= 85
170
6.43

& LIMING 67



SiEZ R EH CYKODRIVE

MODEL - RDN40

RATIO : 41 ~61~ 81~ 121~ 161

Unit: mm

g o

A1l 115~ 145~ 165
A2 M6 ~ M8 ~ M10
A3 95110~ 130
A4 122 ~ 130 ~ 150
A5 24~ 28
PCD102

10-M10X1.5

PCD175
16- @9

PCD175
2-M8X1.25

4% Characteristic

B F A E/
Output Table Supporting Bearing

XA XE B L 4E / Rated Output Torque

B A B L 3R4E / Max. Output Torque
£{=184E / Emergency Stop Torque

B AR A% / Max. Acceleration Torque
B8 2 / Inertia Moment

REXE i ¥ 2R / Rated Output Speed

B AE 185K / Max. Output Speed
BEFE AR / Permissible Input Speed
Z5B4 / Backlash Ps

Z5B8 / Backlash PO

Z5B8 / Backlash P1

B @A | Max. Radial Force
BEFERE A / Max. Axial Force

&

TE=fn / Rated Life

HEEmMItE / Torsional Rigidity

R | Efficiency

= EBUEB A / Synthetic Grease
E= / Weight

TZNOT

T

Nm
Nm

Nm
kg.m?
rpm
rem
rpm
arcmin
arcmin
arcmin
N

N

hr

Nm/arcmin

%
g
kg

174
138.5 35.5
31 24 13
7] 10 10
Tf OA4
*—1 M8X1.25
]
=l Bl o el =
833 Sige
SIS S § i SRS
. Q
\
67 2-1/4"PT
5 |

R AREIRENE Angular Contact Ball Bearing
400
5 {ZEAE 8 L /46 5 Time of Rated Output Torque

2.5 {2258 S1%E 2.5 Times of Rated Ouput Torque
5x 10"
15
45
3,000
=1

=3
=5
8,600

5,700

S5 FHAE# : >6,000 (S1 ZE4&EE : >3,000 hrs)
S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)

100
= 85
290
1.3

68



MODEL - RDN80

RATIO : 45 ~66 ~ 81~ 101~ 171

Unit: mm
A1l 115~ 145 ~ 165
A2 M6 ~ M8 * M10
A3 95-~110 -~ 130
A4 122 ~ 130 ~ 150
A5 28 ~ 32
187
151.5 35.5
PCD136 54 16 8
18-M10X1.5 13 10 10
1 A4
| T M8X1.25
S
i
S = o =
g 83 | . 928
S @@ Ruiealenl s f i Y
e
j/ \
PCD206 PCD206 67 2-1/4"PT 4-A2
16-99 2-M8X1.25 5]

gﬁuﬁﬁ?ﬁfgﬂfimn o Bearing $4fB3E % 8% Angular Contact Ball Bearing
XA XE B L 4E / Rated Output Torque Nm 800
i‘fé?ﬁfﬁ?gn{agiﬁcsg& L:Dt .I-I_—g:gz: Tovor Nm 5 XA 8 L 4B 5 Time of Rated Output Torque
E AR A1%E / Max. Acceleration Torque T, Nm 2.5 {2258 S1%E 2.5 Times of Rated Ouput Torque
BB E / Inertia Moment kg.m? 9x10*
REXE i ¥ 2R / Rated Output Speed rom 15
B AE 185K / Max. Output Speed rpm 42
BEFE AR / Permissible Input Speed rom 3,000
P& / Backlash Ps J, arcmin =1
P& / Backlash PO J, arcmin =3
& P& / Backlash P1 J, arcmin =5
BFE[@ 7] / Max. Radial Force e N 12,500
AETEE 7] / Max. Axial Force T N 8,200
S5 FEEAIEH : >6,000 (S1 B8 : >3,000 hrs)
RETE =10 / Rated Life L hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
HEE/R14 / Torsional Rigidity Nm/arcmin 150
R | Efficiency n % = 85
25 BB MAS / Synthetic Grease g 480
&5 / Weight kg 18.64

& LIMING 69



SiEZ R EH CYKODRIVE

MODEL - RDN110

RATIO : 41 ~61~ 81~ 121~ 161

Unit: mm

e rowtn |

A1 145 ~ 165 ~ 200
A2 M8 ~ M10 ~ M12
A3 110 ~ 130 ~ 180
A4 146 ~ 150 ~ 190
A5 3235

A6 35.3 ~ 38.3

)

U ' U
PCD138 ‘\' \’ .
9"‘4;6”21075 5 PCD226
P 3 d / ©/\ 2-M10X1.5
PCD226 s,.g_g/é PCD100
12-9 11 [ 3-M12X1.75
16° | 16° deep20

4% Characteristic

B F A E/
Output Table Supporting Bearing

XA XE B L 4E / Rated Output Torque

B A B L 3R4E / Max. Output Torque
=B / Emergency Stop Torque

B AR A% / Max. Acceleration Torque
B8 2 / Inertia Moment

REXE i ¥ 2R / Rated Output Speed

Ex A B #8228 / Max. Output Speed
BEFE AR / Permissible Input Speed
Z5B4 / Backlash Ps

Z5B8 / Backlash PO

Z5B8 / Backlash P1

B @A | Max. Radial Force
BEFEE A / Max. Axial Force

&

TE=fn / Rated Life

HhE[ 14 / Torsional Rigidity

R | Efficiency

= EBUEB A / Synthetic Grease
E= / Weight

TZNOT

T

220.5 10
185 35.5 e =
67 19 20
14) 15 10 AVIEW
1 CA4
! M10X1.5
:]\ — ——

@244
®208 n7
182 h7
@80 Hr

@ A3 Hs
®208 h7

84.5

Nm
Nm

Nm
kg.m?
rpm
rpm
rpm
arcmin
arcmin
arcmin
N

N

hr

Nm/arcmin

%
g
kg

T T T

R AREIRENE Angular Contact Ball Bearing
1,100
5 {22 £ 8 L 5B 5 Time of Rated Output Torque

2.5 {2258 S1%E 2.5 Times of Rated Ouput Torque
15x 10
15
35
3,000
=1

<3
<5
16,000

12,000

S5 FHAE# : >6,000 (S1 ZE4&EE : >3,000 hrs)
S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)

210
= 85
710
26.8

70




MODEL - RDN160

RATIO : 41 ~61~ 81~ 121~ 161

Unit: mm
(S o
A1 165 ~ 200 ~ 215
A2 M8 ~ M10 ~ M12
A3 114.3 ~ 130 ~ 180
A4 182 ~ 200
A5 35~ 38
A6 38.3 - 413 yios 10 |
204 35.5 PO <2
735 25 21
20%?3)%?.5 13 15 10 -AVIEW.
W‘ OA4
]\ Hi M10X1.5
~H @%
~ . — _ ~
233 L TH 5E 3 |
S5 | 5[5 %
0 —a
e\l @§
b 1 PCD A1
PCD260 i PCD260 — 84.5 2:3/8"PT 4-A2
12-913 2-M12X1.75 S
$51% Characteristic RDN160
%ﬁu?pﬁéa%f?iﬁ;grﬁn o Eee R AREIRENE Angular Contact Ball Bearing
RB7E 87 1 5B / Rated Output Torque Nm 1,600
iég%*ﬁéﬁ;&g@ﬁg?& L:)t _I-I_—g:gz: Tovor Nm 5 {225 L 4E 5 Time of Rated Output Torque
E AR A1%E / Max. Acceleration Torque T, Nm 2.5 {2258 S1%E 2.5 Times of Rated Ouput Torque
BB E / Inertia Moment kg.m? 25x10*
REXE i ¥ 2R / Rated Output Speed rom 15
Ex A B #8228 / Max. Output Speed rpm 27
BEFE AR / Permissible Input Speed rom 3,000
P& / Backlash Ps J, arcmin =1
P& / Backlash PO J, arcmin =3
28 / Backlash P1 J, arcmin =5
BFE[@ 7] / Max. Radial Force e N 19,000
BEFEIE 7] / Max. Axial Force Fru N 15,000
S5 FEEAIEH : >6,000 (S1 B8 : >3,000 hrs)
RETE =10 / Rated Life L hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
HEEmMItE / Torsional Rigidity Nm/arcmin 300
R | Efficiency n % = 85
25 BB MAS / Synthetic Grease g 800
E= / Weight kg 36.4

&LIMING 71



SiEZ R EH CYKODRIVE

MODEL - RDN320

RATIO : 41 ~61~ 81~ 121~ 161

Unit: mm
A1 200 ~ 215~ 265
A2 M10 ~ M12 ~ M16
A3 114.3 ~ 180 ~ 230
A4 182 ~ 200 ~ 250
A5 42 ~ 48
A6 12~ 14 2935 A6
A7 453~ 51.8 248 45.5
87.5 285 25
PCD220
PCD304 218 24-M12X1.75 16 20 125
2-M12X1.75 W
\
NG e
? n
® ~[os| o - _ o =
K 8 3 9 o , 22
o & Jje - \ 2?3
Q| G 8 |L. —\ 4 S Q
| @\ -—A
N
PCD304 PCD304 g
16-9 13 2-M12X1.75 8 114 2-3/8"PT

4% Characteristic

W F A B/
Output Table Supporting Bearing

XA XE B 1 4E / Rated Output Torque

B A B L 3R4E / Max. Output Torque
=B / Emergency Stop Torque

B AR A% / Max. Acceleration Torque
B8 2 / Inertia Moment

REXE i ¥ 2R / Rated Output Speed

Ex A B #8228 / Max. Output Speed
BEFE AR / Permissible Input Speed
Z5B4 / Backlash Ps

Z5B8 / Backlash PO

Z5B8 / Backlash P1

B @A | Max. Radial Force
BEFEE A / Max. Axial Force

&

TE=fn / Rated Life

HhE[ 14 / Torsional Rigidity

R | Efficiency

= EBUEB A / Synthetic Grease
E= / Weight

TZNOT

T

Nm
Nm

Nm
kg.m
rpm
rpm

rpm

2

arcmin

arcmin

arcmin

Nm/arcmin

N
N

hr

%
g
kg

R AREIRENE Angular Contact Ball Bearing
3,200
5 {22 £ 8 L 5B 5 Time of Rated Output Torque

2.5 {2258 S1%E 2.5 Times of Rated Ouput Torque
32x10*
15
21
3,000
=1

<3
<5
25,300

20,000

S5 FHAE# : >6,000 (S1 ZE4&EE : >3,000 hrs)
S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)

980
= 85
1,700
62.7

72






SiEZ R EH CYKODRIVE

MODEL * RCN6
RATIO : 75 ~ 100 ~ 125 - 150 Unit: mm
ST

A1 70~75~90
A2 M4 ~ M5 ~ M6
A3 506070
A4 64 ~ 70 ~ 80
PCD113 1265
8- 5.8 PCD113 28 128 355 215
PCD58 : 2-M5X0.8 5 8
4-M8X1.25 e
: - |
I — §
4<
5wl - Qo DA4
N ool ™ S
R §8 ST = 5 M5X0.8
~ S —
( I 19
———l___ Q » B
—— I o1 @ i
- __ | <
it Y 7: \
2-M8X1.25 35 — & @
deep15
cep 34 _[\2-1/8"PT PCD A1

4-A2

%ﬁuﬁﬁ?ﬁfiﬂﬁ%mn o Bearing $\fB3% % 8% Angular Contact Ball Bearing
XA XE ) 3 4E / Rated Output Torque Nm 60
i‘f%?ﬁfﬁ?gwégﬁc?g& L:)t .I-I_—g:gz: Tovor Nm 5 XA 8 L 4E 5 Time of Rated Output Torque
AN A% / Max. Acceleration Torque T, Nm 2 ZEATEE 1 7178 2 Times of Rated Ouput Torque
BB E / Inertia Moment kg.m? 1.15x 10
REXE i ¥ 2R / Rated Output Speed rom 15
Ex A B #2R / Max. Output Speed rom 55
BEFE AR / Permissible Input Speed rom 3,000
P& / Backlash Ps J, arcmin =2
2 P& / Backlash PO J, arcmin =4
=P8 / Backlash P1 J, arcmin =6
BEFL @A / Max. Radial Force Fop N 2,100
AETEE 7] / Max. Axial Force e N 1,500
S5 FEAIEH : >6,000 (S1 & E8E : >3,000 hrs)
RETE =70 / Rated Life L hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
HEE14 / Torsional Rigidity Nm/arcmin 50
R | Efficiency n % = 85
25 OB HAE / Synthetic Grease g 100
E= / Weight kg 3.6

74



MODEL . RCN20 Unit: mm

RATIO : 69 ~ 115~ 138 m

A1 70~75~90
A2 M4 ~ M5 ~ M6
A3 506070
A4 64~ 70~ 80
A5 #1419
A6 33.5°415

K214 1 1/69 ~ 1/115~ 1/138
@19+ 1/69 ~ 1/115

135
PCD1
4_3(1:5;12.5 ] 6(_3 p 6?85 S Ny 3010 20 9 355 16
i
— -
1 - 8
5% ol nf o - ] gg{ S
0 :5!3 g g S’:: © 1k S 0OA4
MR ] 65 M5X0.8
E T He 3 (F_==
2 Ea=E s N
e 2L
2-M10X1.5 ] 5
51 A6 2-1/8'PT__ PCD A1
4-A2
%ﬁuﬁﬁ?ﬁfgﬂiﬁgmn o Bearing $4fB3% % 8% Angular Contact Ball Bearing
XA XE B L 4E / Rated Output Torque Nm 200
ié?ﬁfﬁ?gniaﬁgiﬁcsg& Lg .I-I_—g:gz: Tovor Nm 5 XA 8 L 4E 5 Time of Rated Output Torque
AN A% / Max. Acceleration Torque T, Nm 2.5 {225 S4B 2.5 Times of Rated Ouput Torque
BB E / Inertia Moment kg.m? 2x10*
REXE i ¥ 2R / Rated Output Speed rom 15
Ex A B #2R / Max. Output Speed rom 50
BEFE AR / Permissible Input Speed rom 3,000
P& / Backlash Ps J, arcmin =1
& P& / Backlash PO J, arcmin =3
=P8 / Backlash P1 J, arcmin =<5
BEFL @A / Max. Radial Force Fop N 6,500
AETEE 7] / Max. Axial Force e N 4,300
S5 FEAIEH : >6,000 (S1 & E8E : >3,000 hrs)
RETE =70 / Rated Life L hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
HEE14 / Torsional Rigidity Nm/arcmin 70
R | Efficiency n % = 85
25 OB HAE / Synthetic Grease g 170
E= / Weight kg 6.45

&LIMING 75



SiEZ R EH CYKODRIVE

MODEL - RCN40

RATIO : 87 ~ 116 ~ 145

PCD102 PCD175

10-M10X1.5 16-99 PCD175
2-M8X1.25

AN

A1
A2
A3
A4
A5

A6
K O19:

RCN40

90 ~ 100 ~ 115 ~ 145
M5 ~ M6 ~ M8
70~80~95~110
92~ 110 ~ 130
%19~ 22

Unit: mm

44 ~ 58

1/87 ~ 1/116 ~ 1/145

@22 1/87 ~ 1/116
165.5
31 24 39.5 18.5
7] 10 13
§

R
- :
o
SN &9
[ee] Q

o Vo g L n

| © mm .y

Q| ‘_S St
(S — \_:r
“BE
4 S @
- - ™
\ L ! <
|| | &L * S
5

A6 2-1/8"PT

4% Characteristic BE{iI Unit RCN40

WA/
Output Table Supporting Bearing

XA XE B L 4E / Rated Output Torque

B A B L 3R4E / Max. Output Torque
£{=184E / Emergency Stop Torque

B AR 1% / Max. Acceleration Torque
B8 = / Inertia Moment

REXE i ¥ 2R / Rated Output Speed

B KB 185 2R / Max. Output Speed
BEFE AR / Permissible Input Speed
Z5B4 / Backlash Ps

#5048 / Backlash PO

Z5P8 / Backlash P1

BEFE@E A / Max. Radial Force
BEFERE A / Max. Axial Force

A

TE=fn / Rated Life

HEEmItE / Torsional Rigidity

R | Efficiency

& B HE / Synthetic Grease
E= / Weight

TZNOT

T

Nm
Nm

Nm
kg.m?
rpm
rpm
rpm
arcmin
arcmin
arcmin
N

N

hr

Nm/arcmin

%
g
kg

R AREIRENE Angular Contact Ball Bearing
400
5 {5 & L 746 5 Time of Rated Output Torque

2.5 {225 S4B 2.5 Times of Rated Ouput Torque
5x 10"
15
45
3,000
=1

=3
=5
8,600

5,700

S5 FHAE : >6,000 (S1 ZE4&EE : >3,000 hrs)
S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)

100
= 85
290
1.4

76



MODEL - RCN80

RATIO : 78 ~ 104 ~ 130

cosa "

RCN80

Unit: mm

A1 90 ~ 100 ~ 115~ 145
A2 M5~ M6 ~ M8
A3 70~80-95~ 110
A4 92~ 110 ~ 130
A5 22~ 24
184.5
PCD206 50 20 485 215
PCD136 16-99
18-M10X1.5 PCD206 13 10 118
—
0 °
o
- 2
NI R=) Sl 71—
Qglglof a M8X1.25
N2 Lo e 1
e 8 © .
T | ~—
2 ©
D—" Fi=1% =
L . S -
i <
@ 44@ S
5 || __X
58 2-1/8"PT

4% Characteristic BE{iI Unit RCN80

WA/
Output Table Supporting Bearing

XA XE B L 4E / Rated Output Torque

B A B L 3R4E / Max. Output Torque
£{=184E / Emergency Stop Torque

B AR 1% / Max. Acceleration Torque
B8 = / Inertia Moment

REXE i ¥ 2R / Rated Output Speed

B KB 185 2R / Max. Output Speed
BEFE AR / Permissible Input Speed
Z5B4 / Backlash Ps

#5048 / Backlash PO

Z5P8 / Backlash P1

BEFE@E A / Max. Radial Force
BEFERE A / Max. Axial Force

TZNOT

T

A

TE=fn / Rated Life

HEEmItE / Torsional Rigidity

R | Efficiency

& B HE / Synthetic Grease
E= / Weight

R AREIRENE Angular Contact Ball Bearing

Nm 800
Nm 5 XA 8 L 4E 5 Time of Rated Output Torque
Nm 2.5 fEEAEH $ 4B 2.5 Times of Rated Ouput Torque
kg.m? 9x10*
rpm 15
rpm 42
rpm 3,000
arcmin =1
arcmin =3
arcmin =5
N 12,500
N 8,200
S5 FHAE : >6,000 (S1 ZE4&EE : >3,000 hrs)
hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
Nm/arcmin 150
% = 85
g 480
kg 18.86

&LIMING 77



SiEZ R EH CYKODRIVE

MODEL - RCN110

RATIO : 66 ~ 99 ~ 132

PCD226
PCD138 12-911

9-M12X1.75
deep20

AN

RCN110

Unit: mm

A1 115~ 145 ~ 165
A2 M6 ~ M8 ~ M10
A3 95110~ 130
A4 122 ~ 130 ~ 150
A5 24 ~ 28
A6 27.3 313
203
67 19 35215
14| 15 15
14] w 8
| O
l\
L REYLE (S
0 ® -
Q AVIEW
- IS
< El & s 2 g 10
NEEER -
S | — < _ 1
el © =10
N =
L1 <
el
(RhY —A
5 || 65 _|\2-1/4"PT

$514 Characteristic B {11 Unit RCN110

WA/
Output Table Supporting Bearing

XA XE B L 4E / Rated Output Torque

B A B L 3R4E / Max. Output Torque
£{=184E / Emergency Stop Torque

B AR 1% / Max. Acceleration Torque
B8 = / Inertia Moment

REXE i ¥ 2R / Rated Output Speed

B A B H IR / Max. Output Speed
BEFE AR / Permissible Input Speed
Z5B4 / Backlash Ps

#5048 / Backlash PO

Z5P8 / Backlash P1

B @A | Max. Radial Force
BEFERE A / Max. Axial Force

A

TE=fn / Rated Life

HEEmItE / Torsional Rigidity

R | Efficiency

& B HE / Synthetic Grease
E= / Weight

TZNOT

T

Nm
Nm

Nm
kg.m?
rpm
rpm
rpm
arcmin
arcmin
arcmin
N

N
hr

Nm/arcmin
%
g
kg

R AREIRENE Angular Contact Ball Bearing
1,100
5 {5 & L 746 5 Time of Rated Output Torque

2.5 {225 S4B 2.5 Times of Rated Ouput Torque
15x 10
15
35
3,000
=1

=3
=5
16,000

12,000

S5 FHAE : >6,000 (S1 ZE4&EE : >3,000 hrs)
S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)

210
= 85
710
271

78



MODEL - RCN160

RATIO : 66 ~ 99 ~ 132

Unit: mm

A1 115 ~ 145 ~ 165 )
A2 M6 ~ M8 ~ M10 L]
A3 95110~ 130 ¥
A4 122 ~ 130 ~ 150
A5 28 ~ 32
A6 810
A7 313353
PCD260 244
PCD183 12-¢13 oeD60 " 73-f5 2520 41 23
20-M10X1.5 13
2-M12X1.75 |
i o
—t %
ﬁﬂ IS
~ s = \9
ol | <l T| » ISt
& SEER TP 10
S8 ® | ——— —
S i R | 8
T | f
! T2
P
ﬁi A a
5 | 84 \2-1/4"PT
$514 Characteristic B {11 Unit RCN160

WA/
Output Table Supporting Bearing

XA XE B L 4E / Rated Output Torque Nm
B A HHAE / Max. Output Torque T Nm
£{=184E / Emergency Stop Torque wor
AN A% / Max. Acceleration Torque T, Nm
BB = / Inertia Moment kg.m?
REXE i ¥ 2R / Rated Output Speed rom
Ex B B3R / Max. Output Speed rom
BEFE AR / Permissible Input Speed rpm
PR / Backlash Ps J, arcmin
P& / Backlash PO J, arcmin
B & / Backlash P1 J, arcmin
BFFEE A | Max. Radial Force Fo N
ZSFF#E) ] / Max. Axial Force Foup N
XEXE=1n / Rated Life L, hr
HEE14 / Torsional Rigidity Nm/arcmin
2 | Efficiency n %
25 OB HAE / Synthetic Grease g

B £ / Weight kg

R AREIREN I Angular Contact Ball Bearing
1,600
5 {5 & L 746 5 Time of Rated Output Torque

2.5 {225 S4B 2.5 Times of Rated Ouput Torque
25x 10"
15
27
3,000
=1

=3
=5
19,000

15,000
S5 FHAE : >6,000 (S1 ZE4&EE : >3,000 hrs)
S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)

300
= 85
800
36.9

& LIMING 79



SiEZ R EH CYKODRIVE

MODEL - RCN320

RATIO : 82 ~ 123 ~ 164

Unit: mm

A1 145~ 165 ~ 200
A2 M8 ~ M10 ~ M12
A3 110 ~ 130 ~ 180
A4 146 ~ 150 ~ 190
A5 3235
A6 35.3~38.3
2735
PCD304 PCD304 PCD304
2-M12X1.75 16-013  2-M12X1.75 875 285 495 26
16] 20 20
| 10
. IS,
= 5 !_, )
i 3 ol ‘\'l/
~ o | 8 A VIEW
ol 5| % £ o g OA4
S 3o yw -t
o & 3| < L 11
SRS - 0
B ‘q_;
e g
e ==
e N <
<48
N =A
PCD220 8 || N\ 212
24-M12X1.75 8

deep24

#5144 Characteristic RCN320

W Fa g/

Output Table Supporting Bearing
XA XE B L 4E / Rated Output Torque

Ex AR E H 2B / Max. Output Torque
£{=184E / Emergency Stop Torque

B AR 1% / Max. Acceleration Torque

BB 2 / Inertia Moment

REXE i ¥ 2R / Rated Output Speed
Ex B B3R / Max. Output Speed
BEFE AR / Permissible Input Speed

2[4 / Backlash Ps
24 / Backlash PO
2[4 / Backlash P1

BHFLm@A / Max. Radial Force

ZREFERIE ] / Max. Axial Force

A

TE=fn / Rated Life

HEEmItE / Torsional Rigidity
R | Efficiency

2 A EE HAE / Synthetic Grease

E= / Weight

TZNOT

T

R AREIREN I Angular Contact Ball Bearing

Nm 3,200
Nm 5 XA 8 L 4E 5 Time of Rated Output Torque
Nm 2.5 fEEAEH $ 4B 2.5 Times of Rated Ouput Torque
kg.m? 32x10*
rpm 15
rpm 21
rpm 3,000
arcmin =1
arcmin =3
arcmin =5
N 25,300
N 20,000
S5 FHAE : >6,000 (S1 ZE4&EE : >3,000 hrs)
hr S5 Cycle Operation: >6,000 (S1 Continuous Operation:
>3,000 hrs)
Nm/arcmin 980
% = 85
g 1,700
kg 63.9

80



#1E Bushing

oA
9B

i ALK
Shaft Bore

HWE _AE

Bushing Bore

12.7
14
15.85
16
19
22
24
28
32

B E A7 PI € P 15) AR A5 2 RO B L B B A -
NERPRBNER NEREABME > LR
£ FRAY 8 H BB S RO T UM E P K (E -

& LIMING 81



SiEZ R EH CYKODRIVE

SERERA R R ERRIER
CYKODRIVE and Motor Mounting Instructions

2 B R S R R RS 2 B 1L HE - MBEMSE 035 UT - BiSE L BREFELNHMRT - MBHE > F
Wighe S EHEREZF - = - FEANDAA -

Confirm the motor, and gearbox size. Remove the motor key if the diameter of Check motor shaft size and insert
Clean up the mounting surface. motor shaft is under @ 35. bushing into input bore if necessary.

HMHZEE - ERAERFEBEEREH BEEEFERNR RN - KR ERRNRFHE EINEIRH -
AR o MIAGIRAAET LA Put the motor into the gearbox vertically. Tighten the mounting bolt in 1~4 order
Remove the plug on the adapter plate. with torque wrench.

Rotate the set collar till the bolt is line

up.

-

EMEHEEBSE  SREEERE
BOBEIR -
To be sure to tighten motor first
and then to tighten the set collar
on motor shaft.

2. BT RIEFAELE - LHDHEE
7 ROJERf -
Please assembly in order
according to above steps,
especially for step 6 and step 7.

FERANRFHBERBHEE - H[O]ZEGE -
Tighten the set collar bolt with torque Tighten back the screw plug.
wrench.

82



MEMO




MEMO




